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Comprehension:
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Options 1. 1
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Question Type : MCQ
Question ID : 87827026634
Option 11D : 878270105049
Option 2 ID : 878270105050
Option 3 ID : 878270105051
Option 4 |D : 878270105052
Status : Answered
Chosen Option : 1
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Comprehension:
e wnferrt F 2019-2022 %F = fa=1-fom =l & e 4 wftan Samet 2 fa= faaerdi A-F 5 9
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Question Type : MCQ
Question ID : 87827026636
Option 11D : 878270105057
Option 2 1D : 878270105058
Option 3 ID : 878270105059
Option 4 1D : 878270105060
Status : Answered
Chosen Option : 4
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Comprehension:

e anferart F 2019-2022 % w0 fa=- o=y =l 3 2m =2 wian e 92 fa= faenerdi A - F & e
fernfeldt = wfaem 2N e 3 afeEm el = Sen 1 s g T ¥ A § 92T 21§ AN W,
S O T w3 e .

farenfelat &t wen faeerm-am faaro

Fg| 2019 2020 2021 2022

frmmaN| o) [ | o [ea] & || o
136( 60 70 75 184 60 86
84 48 18 45 48 60 90
60| 55 24 680 52 56 24
84| 57 B84 55 72 65 192
280 60 136 70 264 66 224
90 | 56 96 65 228 45 84

Wl AT (+) 1 A & Areren! a Ao 1 HEn % ot o i

o m| 9N = =
ElGE|E|EZ

SubQuestion No : 3
Q3 i ww Tl F v W S fEeE E @ e 3 99 aes # olee gen e 2

(1) 424

(2) 434

(3) 438

(4) 454
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827026632
Option 11D : 878270105041
Option 2 ID : 878270105042
Option 3 1D : 878270105043
Option 4 1D : 878270105044
Status : Not Answered
Chosen Option : --
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Comprehension:
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Question Type : MCQ
Question ID : 87827026635
Option 11D : 878270105053
Option 2 1D : 878270105054
Option 3 ID : 878270105055
Option 4 1D : 878270105056
Status : Answered
Chosen Option : 4
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Comprehension:
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SubQuestion No : 5
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(1) 1364
(2) 1386
(3) 1404
(4) 1414
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026633
Option 1 1D : 878270105045
Option 2 ID : 878270105046
Option 3 ID ; 878270105047
Option 4 ID : 878270105048
Status : Answered
Chosen Option : 3
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(3) REF1HE E, FfF e 1 7TeW 7
(4) HET I T, AH R U T F
Options 1.1
2%
3.3
4.4
Question Type : MCQ
Question ID : 87827026676
Option 11D : 878270105217
Option 2 1D : 878270105218
Option 3 1D : 878270105219
Option 4 |D : 878270105220
Status : Answered
Chosen Option : 3
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(1) Fa4 (A), (B) 3R (C)
@) Fa@ (B), (C) 3 (D)
@) a4 (O), (D) 3 (B)
() Fad (A), (D) 3R (E)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026649
Option 1 1D : 878270105109
Option 2 ID : 878270105110
Option 3 ID : 878270105111
Option 4 1D : 878270105112
Status : Answered
Chosen Option : 1
Q.8 Arrange the following in increasing order of DDT concentration among them as a result of
bicaccumulation/accumulation :
(A) Fish
(B) Water body
(C) Fish eating birds
(D) Zooplanklons
Choose the correct answer from the options given below :
(1) (A), (B, (©), (D)
(2) (B) (D). (A). (©)
(3) (C) (D), (A), (B)
@) (B) (A) (©) (D)
Options 1.1
2.9
3.3
4.4
Question Type : MCQ
Question ID : 87827026671
Option 1 1D : 878270105197
Option 2 1D : 878270105198
Option 3 1D : 878270105199
Option 4 I1D : 878270105200
Status : Answered
Chosen Option : 2
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Options 1.1
2.2
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4.4

Question Type : MCQ
Question ID : 87827026675
Option 11D : 878270105213
Option 2 1D : 878270105214
Option 3 1D : 878270105215
Option 4 |D : 878270105216
Status : Answered
Chosen Option : 2

Q10 ik among the following is concerned with the question of whether social scientific findings are
applicable to people’s everyday natural social setting ?
(1)  Ecological validity
(2)  External validity
(3)  Measurement validity
(4)  Face validity

Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 87827026643
Option 11D : 878270105085
Option 2 ID : 878270105086
Option 3 ID : 878270105087
Option 4 1D : 878270105088
Status : Answered
Chosen Option : 1
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Q.11 Match List - I with List - 11.

List - 1 List - 11
(Software) (Most appropriate use)
(A) Desktop publishing software (I)  Keeping records of employees of large organisation
(B) Presentation software (II) Matching illness to symptoms
(C) Inference Engine (i) Producing a multimedia slideshow
(D) Database software (IV) Producing a magazine

Choose the correct answer from the options given below @
(1) (AHIV), (B)-(I1), (CI), (DD
@ (A, (By-(I), (I, (D))
() (A)RIV), (B)-(II), (C)-(), (D)-(I)
(@) (AN, B)-@), (©-), D}-1V)

Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026666
Option 11D : 878270105177
Option 2 1D : 878270105178
Option 3 1D : 878270105179
Option 4 |D : 878270105180
Status : Answered
Chosen Option : 3
Q12 s foam 2, foren, T, Te-fagm 9 dafuy fav 4 gafus e S e mamAam e ?
(1 H=R
(2) HEd
(3) wEIg
(4) wEEA
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026640
Option 11D : 878270105073
Option 2 ID : 878270105074
Option 3 ID : 878270105075
Option 4 1D : 878270105076
Status : Answered
Chosen Option : 1
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Q13 \hich of the following are social emotions displayed during inter-personal communication ?
(A) Embarrassment
(B)  Guilt
(C) Shame
(D) Pride
(E) Jealousy
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (A), (©) and (D) Only
(3) (A), (B), () and (D) Only
4)  (A), (B), (C) (D) and (E)
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID ;: 87827026650
Option 11D : 878270105113
Option 2 1D : 878270105114
Option 31D : 878270105115
Option 41D : 878270105116
Status : Answered
Chosen Option : 4

Q.14 A musician uses a broadband Internet connection to download music. In this context, which of
the following statements are true ?
(A) Some rural areas in India have poor broadband access.
(B) There is no need to dial up, broadband is always connected.
(€)  You cannot use the landline phone at the same time while using the broadband Internet.
Choose the correct answer from the options given below @
(1)  (A) and (B) Only
(2)  (A) and (C) Only
@) (B) and (C) Only
() (A), (B)and (O)
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question 1D : 87827026665
Option 1 1D : 878270105173
Option 2 ID : 878270105174
Option 3 ID : 878270105175
Option 4 1D : 878270105176
Status : Answered
Chosen Option : 1
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Question Type : MCQ
Question ID : 87827026670
Option 11D : 878270105193
Option 2 1D : 878270105194
Option 3 1D : 878270105195
Option 4 |D : 878270105196
Status : Answered
Chosen Option : 4

Q16 o o g ¥ :

U (1) : 9 T WA S99 W pH W A A A € 7 e s | 7 e a
% o zaa wivem fom s =ifew)

I (1) : FH pH T T WA AT F ITTEA a9 0 560 Serien 5 S s
¥ Sl W g |

TG FOE T S W, 7 5 T fawedt § 4 vl segen 36 1 99 S
(1) e 1577 wem 1A T8

2) HEFI SN FHEAN G TEA ¢

(3) HETIFE &, FET W T

(4) THEF LT ¥, WA e 1A §

Options 1. 1
2.2
3:3
4.4

Question Type : MCQ
Question 1D : 87827026668
Option 11D : 878270105185
Option 2 1D : 878270105186
Option 3 ID : 878270105187
Option 4 1D : 878270105188
Status : Answered
Chosen Option : 1
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026656
Option 110 : 878270105137
Option 2 ID : 878270105138
Option 3 1D : 878270105139
Option 4 1D : 878270105140
Status : Answered
Chosen Option : 3
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Options 1. 1
2.2
33
4.4

Question Type : MCQ
Question ID : 87827026638
Option 11D : 878270105065
Option 2 |ID : 878270105066
Option 3 1D : 878270105067
Option 41D : 878270105068
Status : Answered
Chosen Option : 1
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Q.19

frefafaa § & SF-31 7ond % 9ga sy § srafen 82
(1) T, T, S, FPEet, 7Y
(2) TR, FREDI, M, TG, M
(3) FUEHI, Y, WAL, TSI, ME
(4) T, FHEH!, A, TSAE, T

Options 1.1
2.9
3.3
4.4

Question Type : MCQ
Question ID : 87827026657
Option 11D : 878270105141
Option 2 ID : 878270105142
Option 3 1D : 878270105143
Option 4 |D : 878270105144
Status : Answered
Chosen Option : 3

Q.20  In a certain code :
‘He is a world champion’ is written as ‘va, sa, za, ma, ka', ‘"World is a family” is written as ‘ma, sa,
ba, za' ‘Being champion is difficalt’ is written as ‘fa, sa, da, ka'. What are the codes for ‘champion’
and ‘is" ?
(1) za, sa
(2) ma, sa
3) ka, sa
(@) ma ka

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026652
Option 1 1D : 878270105121
Option 2 |D : 878270105122
Option 3 ID : 878270105123
Option 4 |1D : 878270105124
Status : Answered
Chosen Option: 3
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Q.21

B Bl s 8
wEAL: IR We % A § Fe 3w (faefan o fefam) T 4 9w F gl 89 % a9 a9
el #r € |

w1 :  TaEtan 2 um F W S w9 wihe o € )

THIE FOR F e H, A faw e e | | wes swes I @ 9T Fien
(1) =R I 30 e L SH =9 §

2) FHEA1TFHT N T

(3) =HEAIHE T, A WA E

(4) YT 17O 8, I WU 1WA

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID ; 87827026667
Option 11D : 878270105181
Option 2 ID : 878270105182
Option 3 1D : 878270105183
Option 4 1D : 878270105184
Status : Answered
Chosen Option : 1
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Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 87827026663
Option 11D : 878270105165
Option 2 ID : 878270105166
Option 3 1D : 878270105167
Option 410 : 878270105168
Status : Answered
Chosen Option : 3
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Options 1.1
2.2

3.3
4.4

Question Type : MCQ
Question ID ; 87827026658
Option 11D : 878270105145
Option 2 ID : 878270105146
Option 3 1D : 878270105147
Option 4 10 : 878270105148
Status : Answered
Chosen Option : 2

Q.24 Given below are two statements

Statement (I) : Webex by Dell Technologies, is the leading enterprise solution for video
conferencing, online meetings, screen share, and webinars,

Statement (II) : GIF is an image file format and stands for Graphics Interactive Formalt.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement 11 are correct

(2) Both Statement I and Statement 11 are incorrect
(3) Statement I is correct but Statement 11 is incorrect
(4) Statement I is incorrect but Statement 11 is correct

Options 1. 1
2.2
3:3
4.4

Question Type : MCQ
Question 1D : 87827026664
Option 11D : 878270105169
Option 2 1D : 878270105170
Option 3 ID : 878270105171
Option 4 ID : 878270105172
Status : Answered
Chosen Option : 1
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Q25  According to the semiotic tradition, communication is mediation of signs :
(1) Extra-subjective
(2) Non-subjective
(3) Inter-subjective
(4) Macro-subjective
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026648
Option 11D : 878270105105
Option 2 1D : 878270105106
Option 3 ID : 878270105107
Option 4 |D : 878270105108
Status : Answered
Chosen Option : 2
Q.26  Given below are two statements ;
Statement (I) : Non-verbal emotional expression precedes verbal communication in human life.
Statement (II) : Socialisation inculcates display norms for appropriate emotional communication.
Lr;}:: !jght of the above statements, choose the most appropriate answer from the oplions given
(1) Both Stat t 1 and Stat it 11 are correct
(2) Both St I and St Il are incorrect
(3) Statement I is correct but Statement 11 is incorrect
(4) Statement I is incorrect but Statement 11 is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026651
Option 1 1D : 878270105117
Option 2 |ID : 878270105118
Option 3 ID : 878270105119
Option 4 ID : 878270105120
Status : Answered
Chosen Option : 3
Q27 i o # %7 w o 3 Fafe § - S e wfe R % e & e oo A AR
T o e # fom w e A w7
(1) =
(2) wefadw
(@) TrEErTER T
(4) fren wmm
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026659
Option 11D : 878270105149
Option 2 1D : 878270105150
Option 3 ID : 878270105151
Option 4 ID : 878270105152
Status : Answered
Chosen Option : 2
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(1)
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(&)
)
Options 1. 1
2.2
33
4.4
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Question Type : MCQ
Question ID : 87827026661
Option 1 1D : 878270105157
Option 2 ID : 878270105158
Option 3 1D : 878270105159
Option 4 1D : 878270105160

Chosen Option : 1

Status : Answered

Q.29
= 1a-gR-3iF Jaen § a7 98 & fAuR #ifa
A2Y, B3X, C5W, D7V, _?
(1) E8U
(2) E11K
(3) E11U
(4) EeU
Options 1. 1

2.2

4.3

4.4

Question Type : MCQ
Question ID : 87827026653
Option 11D ; 878270105125
Option 2 1D : 878270105126
Option 3 I1D ; 878270105127
Option 4 ID : 878270105128

Chosen Option : 3

Status : Answered
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Q30— i o T e T A T A e A s e e § | e et faai

wHeifer ¥

(1) Hafwam

(2) #HEER

(3) fomA e

4) T=ETERE
Options 1.1

2,2

3.3

4.4

Question Type : MCQ
Question ID : 87827026642
Option 110 : 878270105081
Option 2 1D : 878270105082
Option 3 ID : 878270105083
Option 410 : 878270105084
Status : Answered
Chosen Option : 4

a3t Identify non-probability samples from the following :
(A) Simple random sample
(B) Quota sample
(C) Systematic sample
(D) Snowball sample
Choose the correct answer from the options given below :
(1) (B), (C) and (D) Only
(2) (©) and (D) Only
(3)  (A), (B) and (C) Only
(4) (B) and (D) Only
Options 1.1

2.2

%3

4.4

Question Type : MCQ
Question ID : 87827026645
Option 1 I1D : 878270105093
Option 2 |D ; 878270105094
Option 3 ID : 878270105095
Option 4 |10 : 878270105096
Status : Answered
Chosen Option : 3
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.32
8 Which of the following are the types/sub-types of long term memory ?

(A) Declarative memory

(B) Procedural memory

(C) Episodic memory

(D) Semantic memory

Choose the correct answer from the options given below :
(1) (A), (C) and (D) Only

(2) (B) and (C) Only

(3) (A) and (D) Only

() (A), (B), (O) and (D)

Options 1.1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026639
Option 110 : 878270105069
Option 2 1D : 878270105070
Option 3 ID : 878270105071
Option 4 |D : 878270105072
Status : Answered
Chosen Option : 2

Q33 Match List - I with List - 1L

List - I List - 11

(Pre-Indepence College) (Place)
(A) Reid college (I) Allahabad
(B) Forman college (I)  Aligarh
(C) Muir central college (IIT) Lucknow
(D) Anglo oriental college (IV) Lahore

Choose the correct answer from the options given below :
(1) (A1), (B)-(II), (C)-(I1L), (D)-(1V)

(2)  (A)-(D), (B)~(), (O-(IV), (D)-(D)

(3)  (A)(I), (B)-(1V), (C)-(I), (D)-(IT)

4)  (A)-IV), (B)-(D), (C)-(IT), (D)-(IL)

Options 1.1

22

33
4.4

Question Type : MCQ
Question 1D : 87827026674
Option 1 1D : 878270105209
Option 2 ID : 878270105210
Option 3 ID : 878270105211
Option 4 1D : 878270105212
Status : Answered
Chosen Option : 3
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Q.34

et oy, wfiag & Frefefaa § & #9999 wvel W wfefers =90 1 7 e 999 GO w e &

Fera foram = frm s € 2
(A) W®

(B) T T v, Fem
(C) aeiFa (Fem)
(D) Frewd

() doEE

e fau o famedl § 4 Wl 39 W 999 FifE0 .

(1) = (A), (B) (C) W (D)
@) ¥ (B) 4R (E)

(G) F=E (E)

(@) = (Q), (D) 3 (E)

Options 1.1

)
3.3
4.4

Question Type :
Question ID
Option11D:
Option 2 1D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ

: B7827026646

878270105097
878270105098
878270105099
878270105100
Answered

4

Q35 e ot e o o B S oS ) S, Sl @ e 4 fafy S A R FEteE

TR FACAE?

(1) v

(2) FFwz

(3) Tz

(4) TEA-wRE-AfEE

Options 1. 1

2.2
3.3
4.4

Question Type
Question ID
Option 11D
Option 21D :
Option 3 ID
Option 41D :
Status :

Chosen Option :

: MCQ
: 87827026637
: 878270105061

878270105062

: 878270105063

878270105064
Answered
4

(% scanned with OKEN Scanner




Q.36 Given below are two statements :
Statement 1:  The statement “Swati’s mind is a tree always laden with fruitful ideas’ is an

analogy.

Statement 11 :  The statement “Swati’s mind is a tree always laden with fruitful ideas” is only

descriptive in nature.

In the light of the above statements, choose the most appropriate answer from the oplions given

below :
(1) Both Statement I and Statement 11 are correct
(2) Both Statement 1 and Statement II are incorrect
(3) Statement I is correct but Statement 11 is incorrect
(4) Statement I is incorrect but Statement 11 is correct
Options 1. 1
22
3.3
4.4
Question Type : MCQ
Question ID : 87827026660
Option 11D : 878270105153
Option 2 ID : 878270105154
Option 3 ID : 878270105155
Option 4 |D : 878270105156
Status : Answered
Chosen Option : 3
Q.37  Given below are two statements ;
Statement (1) : (21E);, = (541),
Statement (1I) : (257);, = (101),
In the light of the above statements, choose the most appropriate answer from the options given
below :
(1) Both Statement I and Statement I are correct
(2) Both Stat t 1 and Stat it 11 are incorrect
(3) Statement I is correct but Statement 11 is incorrect
(4) Statement [ is incorrect but Statement 11 is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026662
Option 11D : 878270105161
Option 2 ID : 878270105162
Option 3 ID : 878270105163
Option 4 ID : 878270105164
Status : Answered
Chosen Option : 1
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Q38 o s w18 o 3 e T gern H v 2 Fee € | afe & 96 s e e

i i A % w5 ware He o e few et 2

1y efm
@2 s8faA
(3 ofA
@ 12f=
Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026655
Option 1 1D : 878270105133
Option 2 |1D : 878270105134
Option 3 1D : 878270105135
Option 4 |D : 878270105136
Status : Answered
Chosen Option : 1
0.3 Which of the following are the learner related factors that influence learning ?
(A) Learner’s level of aspiration and achievement motivation
(B) Learner’s readiness and will power
(C) Basic potential of the learner
(D) Learner’s physical and mental health
(E) Personality traits and behaviour of teacher
Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only
() (A), (B), (C) and (D) Only
(3) (©) and (E) Only
@) (©), (D) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026641
Option 1 1D : 878270105077
Option 2 |1D : 878270105078
Option 3 1D : 878270105079
Option 4 1D : 878270105080
Status : Answered
Chosen Option : 1
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Lo TF FHTE S H andarleE w8 &9 10% TfdE wrafs o e W owmm F v o e & ==

w1 g it 2w g
(1) 10.10%
(2) 10.16%
(3) 10.20%
@) 10.25%
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026654
Option 1 1D ; 878270105129
Option 2 ID : 878270105130
Option 31D : 878270105131
Option 4 ID : 878270105132
Status : Answered
Chosen Option : 4

M e 6 4 A w8 PG s e
(A) A SEAFREE (CO,)
(B) ¥ (CH,)
(C) TEZH SEIAEEEE (NO,)
(D) EgH HFEEE (N,0)
() HoH SEAFREE (SO,)
4 feu mu fomedi | | W I H =2 Fif
(1) e (A), (B) ¥R (D)
(2) @9 (A), (B) 3 (C)
(3) %dad (B), (C) ¥R (D)
(4) %9 (O), (D) 3R (E)
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827026669
Option 11D : 878270105189
Option 2 |D : 878270105190
Option 3 ID : 878270105191
Option 4 1D : 878270105192
Status : Answered
Chosen Option : 1
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Q.42

U s auf | wew favafaaea & f= § o dag mefaaes 4 .

(1) FwEmEE

(2) IR

(B) dEw (HEm)

(4) i
Options 1. 1

52

3.3

4.4

Question Type : MCQ
Question ID : 87827026673
Option 1 1D : 878270105205
Option 2 ID : 878270105206
Option 3 1D : 878270105207
Option 4 |D : 878270105208
Status : Answered
Chosen Option : 4

Q.4 When people intend meanings in their communication, they are dealing with :
(1) Projective time
(2) Fragmented time
(3) Perceptual time
(4) Psychology of time
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827026647
Option 1 1D : 878270105101
Option 2 1D : 878270105102
Option 3 1D : 878270105103
Option 4 |D : 878270105104
Status : Answered
Chosen Option : 3

(% scanned with OKEN Scanner



Q.44 Hre & o fum € ¢
HA (1) :  FIAHA F I (p) F AT T F TAE T F A wa F el S fem F e §
o S €1
HIA (1) : T 1 HeHaT O ¢ G T F A9 WAy F ak- Tl g T R ST e w
ITF T4 F HewF °, A= fau 1o famed § 4 vl I I F1 F99 Fi0
(1) e 1 37T e 1S A
(2) I 1 ST HeA 1 G T
(3) ®E1HE E, A T 1 T
(1) YT I 2, AfF FHAT 1T

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID ; 87827026644
Option 11D : 878270105089
Option 2 |D : 878270105090
Option 3 1D : 878270105091
Option 4 1D : 878270105092
Status : Answered
Chosen Option : 1
Q.45

e § | o yrd e @1 gefuer-oa w8 2
(1) w9 favafaames sfufaam, 1904

() et FEm gfaae

(3) e Al

@) 1854 =1 foven Jwor (o)

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID ;: 87827026672
Option 11D : 878270105201
Option 2 ID : 878270105202
Option 3 1D : 878270105203
Option 4 1D : 878270105204
Status : Answered
Chosen Option : 4
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Comprehension:

et Treriw =T ufgw @ TR A O@ 0 UYST & SWT i

fama 160 =t W, ieiviiea fawa # swg dfam § wfy od wF o o F ferm A afa @ ®
R H 78 wfEds w1 @ i wan | vl faett o 5 o g vee = G0 = e, wew s
sty Freamm, sa9 9w, FeR st wfasftam | 1970 F e & owos oF 4 s afeds g
wfahe o famg o T8 U 9, qefT e 6 w6 T 9 @ Hai we w S, 79 10 S A
¥ fawg dend F w Wit 3 awfas o s won wEw w1 G waifaes s st 6 w0
T T E i, el WAl F S A F A 35 99 w0 g dvifea € S S 5
gt = w2 sivga =ifaa @ 70 = Sifas w9 &1 A w2 T R

wEf e %1 qaEigEE e fivea w9 8 aEva 2, o wfaeie faanel 3w daee e
R L ® el o et F et famg ot firg s o S o o S 9 9 s e
T Sfad W AR A0 I9E 7 s oy fava w1t wdn fawd Sifam wn w5 oan ot
H yrRfaeR " ST A 2| A g S SRR T g0 % 91 <, A1 86 3 S o die
A F T O WHTTA S0 T a%h sitea w1 fAgia w9 ¥, srevasm 99 3o ¢ F e =t F
S et # Il w w0

Aufy TR wER ® e = wmtEE g i @l § aEm @ dfad w4 a9
fariter denffal s Sem % w0 2n v fde afwfus v 30 G o 5 fei F dm
@ ) S g E | -5 e sty 9@, 1E § Avae ey e e a9 99 6 st famewa
B anin | famfa I (eeReT), A & FEe # e U Fe E@a g, 1950 F 29 A gE e
A o1, G 3H HA, "itern w9 4 w2 b, i sfwe o s oem s R A &
T B S o)

SubQuestion No : 46

Q46 i1 <1 e faw o E
®UF (1) : AN TEE Wl s fawfaa 2 et & <iew s gfs @ w00
A (1) : T F Saw F F Ag v SEAGH T4 W@ w qe it a wRii e #5
THEATER T F T
THIE FA F A °, A= fan 7 fawedi 7§ el TugeE I #1999 Sl
(1)  =he | 507 e 1 EH 56 # |
(2) YA 1 ST SR 1A e E
(3) AT B, A WA T E
(@) HF IR 8, AR e 1w E
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID ;: 87827026682
Option 1 ID : 878270105237
Option 2 ID : 878270105238
Option 3 1D : 878270105239
Option 4 1D : 878270105240
Status : Answered
Chosen Option : 2
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Q.47

Comprehension:

et Treriw =T ufgw @ TR A O@ 0 UYST & SWT i

fama 160 =t W, ieiviiea fawa # swg dfam § wfy od wF o o F ferm A afa @ ®
R H 78 wfEds w1 @ i wan | vl faett o 5 o g vee = G0 = e, wew s
sty Freamm, sa9 9w, FeR st wfasftam | 1970 F e & owos oF 4 s afeds g
wfahe o famg o T8 U 9, qefT e 6 w6 T 9 @ Hai we w S, 79 10 S A
¥ fawg dend F w Wit 3 awfas o s won wEw w1 G waifaes s st 6 w0
T T E i, el WAl F S A F A 35 99 w0 g dvifea € S S 5
gt = w2 sivga =ifaa @ 70 = Sifas w9 &1 A w2 T R

wEf e %1 qaEigEE e fivea w9 8 aEva 2, o wfaeie faanel 3w daee e
R L ® el o et F et famg ot firg s o S o o S 9 9 s e
T Sfad W AR A0 I9E 7 s oy fava w1t wdn fawd Sifam wn w5 oan ot
H yrRfaeR " ST A 2| A g S SRR T g0 % 91 <, A1 86 3 S o die
AR F T GO WHTTA S0 I a% wiiea w | i w9 ¥, srevawm =6 39 ¢ 5 e ==t F
S et # Il w w0

Aufy TR wER ® e = wmtEE g i @l § aEm @ dfad w4 a9
fariter denffal s Sem % w0 2n v fde afwfus v 30 G o 5 fei F dm
@ ) S g E | -5 e sty 9@, 1E § Avae ey e e a9 99 6 st famewa
B anin | famfa I (eeReT), A & FEe # e U Fe E@a g, 1950 F 29 A gE e
A o1, G 3H HA, "itern w9 4 w2 b, i sfwe o s oem s R A &
T B S o)

SubQuestion No : 47

Options 1. 1

4 ifadie faaREl w1 yEeE £ T e A Al | ea-gafa § |
(1) e g @

(2) HH BT

(3) ¥E fer @i

(@) =g

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827026679
Option 1 ID : 878270105225
Option 2 ID : 878270105226
Option 3 1D : 878270105227
Option 4 ID : 878270105228

Chosen Option : 2

Status : Answered
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Comprehension:

et Treriw =T ufgw @ TR A O@ 0 UYST & SWT i

fama 160 =t W, ieiviiea fawa # swg dfam § wfy od wF o o F ferm A afa @ ®
R H 78 wfEds w1 @ i wan | vl faett o 5 o g vee = G0 = e, wew s
sty Freamm, sa9 9w, FeR st wfasftam | 1970 F e & owos oF 4 s afeds g
wfahe o famg o T8 U 9, qefT e 6 w6 T 9 @ Hai we w S, 79 10 S A
¥ fawg dend F w Wit 3 awfas o s won wEw w1 G waifaes s st 6 w0
T T E i, el WAl F S A F A 35 99 w0 g dvifea € S S 5
gt = w2 sivga =ifaa @ 70 = Sifas w9 &1 A w2 T R

wEf e %1 qaEigEE e fivea w9 8 aEva 2, o wfaeie faanel 3w daee e
R L ® el o et F et famg ot firg s o S o o S 9 9 s e
T Sfad W AR A0 I9E 7 s oy fava w1t wdn fawd Sifam wn w5 oan ot
H yrRfaeR " ST A 2| A g S SRR T g0 % 91 <, A1 86 3 S o die
AR F T GO WHTTA S0 I a% wiiea w | i w9 ¥, srevawm =6 39 ¢ 5 e ==t F
S et # Il w w0

Aufy TR wER ® e = wmtEE g i @l § aEm @ dfad w4 a9
fariter denffal s Sem % w0 2n v fde afwfus v 30 G o 5 fei F dm
@ ) S g E | -5 e sty 9@, 1E § Avae ey e e a9 99 6 st famewa
B anin | famfa I (eeReT), A & FEe # e U Fe E@a g, 1950 F 29 A gE e
A o1, G 3H HA, "itern w9 4 w2 b, i sfwe o s oem s R A &
T B S o)

SubQuestion No : 48

e s o e difaa § afg e &1 serer & SR g o
(A) & dreifiERt
(B) W= S
(G
(D) wiersitaY]
(E) o™ 99w
= feu u famed | 9 wét IO F1 997 Hifew
(1) = (A), (O), (D) 3R (B)
(2) & (A) 3R (D)
(3) % (B), (O), (D) 3R (E)
(4) 9 (A) 3R (O
Options 1. 1
2.2
3.3

Question Type : MCQ
Question ID : 87827026678
Option 11D : 878270105221
Option 2 ID : 878270105222
Option 310 : 878270105223
Option 41D : 878270105224
Status : Answered
Chosen Option : 3
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Q.49

Comprehension:

et Treriw =T ufgw @ TR A O@ 0 UYST & SWT i

fama 160 =9t W, sieivfrra fava o sy dorfam # ofy od ww S ad S fermAafa g b
R H 78 wfEds w1 @ i wan | vl faett o 5 o g vee = G0 = e, wew s
sty Freamm, sa9 9w, FeR st wfasftam | 1970 F e & owos oF 4 s afeds g
wfahe o famg o T8 U 9, qefT e 6 w6 T 9 @ Hai we w S, 79 10 S A
¥ fawg dend F w Wit 3 awfas o s won wEw w1 G waifaes s st 6 w0
T T E i, el WAl F S A F A 35 99 w0 g dvifea € S S 5
gt = w2 sivga =ifaa @ 70 = Sifas w9 &1 A w2 T R

wEf e %1 qaEigEE e fivea w9 8 aEva 2, o wfaeie faanel 3w daee e
R L ® el o et F et famg ot firg s o S o o S 9 9 s e
T Sfad W AR A0 I9E 7 s oy fava w1t wdn fawd Sifam wn w5 oan ot
H yrRfaeR " ST A 2| A g S SRR T g0 % 91 <, A1 86 3 S o die
AR F T GO WHTTA S0 I a% wiiea w | i w9 ¥, srevawm =6 39 ¢ 5 e ==t F
S et # Il w w0

Aufy TR wER ® e = wmtEE g i @l § aEm @ dfad w4 a9
fariter denffal s Sem % w0 2n v fde afwfus v 30 G o 5 fei F dm
@ ) S g E | -5 e sty 9@, 1E § Avae ey e e a9 99 6 st famewa
B anin | famfa I (eeReT), A & FEe # e U Fe E@a g, 1950 F 29 A gE e
A o1, G 3H HA, "itern w9 4 w2 b, i sfwe o s oem s R A &
T B S o)

SubQuestion No : 49

e T At F gan § A A - 2
(A) & ag sH & fore 7

(B) 4 fazar Wwif =1 57 it

() @ ufri a fefl % <fte #t e § gfg *of

(D) @ @fehrch 2 |

= feu U fawedi § 9 Wt IWT & A4 HifoT

(1) %9 (A) 3R (O

(2) %9 (A), (B) 3R (C)

(3) @ad (B), (C) ¥R (D)

(4) Fae (Q) #R (D)

Options 1.1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026681
Option 11D : 878270105233
Option 2 ID : 878270105234
Option 3 ID : 878270105235
Option 4 |D : 878270105236

Chosen Option : 2

Status : Answered
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Comprehension:

et Treriw =T ufgw @ TR A O@ 0 UYST & SWT i

fama 160 =t W, ieiviiea fawa # swg dfam § wfy od wF o o F ferm A afa @ ®
R H 78 wfEds w1 @ i wan | vl faett o 5 o g vee = G0 = e, wew s
sty Freamm, sa9 9w, FeR st wfasftam | 1970 F e & owos oF 4 s afeds g
wfahe o famg o T8 U 9, qefT e 6 w6 T 9 @ Hai we w S, 79 10 S A
¥ fawg dend F w Wit 3 awfas o s won wEw w1 G waifaes s st 6 w0
T T E i, el WAl F S A F A 35 99 w0 g dvifea € S S 5
gt = w2 sivga =ifaa @ 70 = Sifas w9 &1 A w2 T R

wEf e %1 qaEigEE e fivea w9 8 aEva 2, o wfaeie faanel 3w daee e
R L ® el o et F et famg ot firg s o S o o S 9 9 s e
T Sfad W AR A0 I9E 7 s oy fava w1t wdn fawd Sifam wn w5 oan ot
H yrRfaeR " ST A 2| A g S SRR T g0 % 91 <, A1 86 3 S o die
AR F T GO WHTTA S0 I a% wiiea w | i w9 ¥, srevawm =6 39 ¢ 5 e ==t F
S et # Il w w0

Aufy TR wER ® e = wmtEE g i @l § aEm @ dfad w4 a9
fariter denffal s Sem % w0 2n v fde afwfus v 30 G o 5 fei F dm
@ ) S g E | -5 e sty 9@, 1E § Avae ey e e a9 99 6 st famewa
B anin | famfa I (eeReT), A & FEe # e U Fe E@a g, 1950 F 29 A gE e
A o1, G 3H HA, "itern w9 4 w2 b, i sfwe o s oem s R A &
T B S o)

SubQuestion No : 50

1950 3 Ty B T Faf A (ST S S A i
(1) < sfEw == 91
(2) T IH IO Ed 9 |
(3) @MEHIMF ARYEE F [E & 7S A
(4) < e w5 9
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026680
Option 1 1D : 878270105229
Option 2 ID : 878270105230
Option 3 ID : 878270105231
Option 4 ID : 878270105232

Chosen Option: 3

Status : Answered

Section : Education
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Q51 5% 3 o forg 0 & T e (A) 3 = foffa & 9 gE0 99 W (R) FETAE
sifirme (A) . wowet Frdwe et oft fadm wer % e & seas =it & A s w5 Hey
TAE
T (R) : Wyl U i siadatans H6u g E fand v st e fadn it @ e F
RN WEE F B H 9 # &, Waih g6t i W UF g9 v S v 9ee
B9 S S e =i A et 6w g

T FE F ANE H, T4 fan 0 fasedt § 4w 39w o Fife
(1) = (A) 3 (R) T AT (R), (A) FT T =0 E

(2) EF (A) 3T (R) T & S (R), (A) FT T o 15 e

(3) (A) & & @fF (R) 7899 &

@) (A) zEe B, AfFA (R) 5 8

Options 1. 1
2.2
3:3
4.4
Question Type : MCQ
Question 1D : 87827026769
Option 1 1D : 878270105585
Option 2 ID : 878270105586
Option 3 |D : 878270105587
Option 4 ID : 878270105588
Status : Answered
Chosen Option : 1
Q.52

i 8 foee 2o fem g i o sifiem, dv of def daea =1 aaem sl sifom & amm
T =EwiE F Freme F oo amed 9m & @ 9w e o = Fh-w e g7

(1) =i =i faem

(2) =g fem

(3) @FwEm i faam

() famet - wim (vwifea) foam

Options 1.1
2.2
3.3
4.4

Question Type : MCQ
Question ID ; 87827026703
Option 11D : 878270105321
Option 2 ID : 878270105322
Option 3 I1D : 878270105323
Option 41D : 878270105324
Status : Answered
Chosen Option : 4
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Q.53

forvafaamem faan smm =t 39 9§ f S SR
(1) WEIfeEr s

(2) THFEE HE

() @I FE

() Al e s

Options 1. 1
2.9
3.3
4.4

Question Type : MCQ
Question ID : 87827026691
Option 1 1D : 878270105273
Option 2 ID : 878270105274
Option 3 ID : 878270105275
Option 4 |D : 878270105276
Status : Answered
Chosen Option : 2

V% eren e SR A e F G T A St e
(A) 9= % Hay § Fd gEa1 24U
(B) HHE &Y
(C) T SARTEEAT
(D) fr=fia ga &1 ™
(B) Hwg THIYM Bq 9H
= feu Tu famedl W | W& 39T F 974 Fifew
(1) (A) B), (O), (D), (E)
(2) (B), (©). (A), (D), (E)
(3) (©), (B), (A), (E), (D)
@) (B), (E), (©) (A), (D)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026754
Option 11D : 878270105525
Option 2 ID : 878270105526
Option 3 ID : 878270105527
Option 4 1D : 878270105528
Status : Answered
Chosen Option : 1
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Q55 3 3 o fem 0 & i (A) F = e § 9 o0 o O (R) FEIH E

sifmem (A) . wferm & fRaoT 9 FeE 1 F1goE w0 % e Ffv wes A Hdfe #ea
A H HE R

THIUT (R) : AfT 1 R Us, WA U a9 g wE aeE das 5w e
= WY F gy 3R Hefva Fvm F1 fawfaa w6 3 ol sfugie & fom g
HEIA T #

T F F Al §, G fon mu fawedi § § w3 e i

(1) = (A) 3 (R) T AT (R), (A) FT T =0 E

(2) EF (A) 3T (R) T & S (R), (A) FT T o 15 e

(3) (A) & & @fF (R) 7899 &

@) (A) zEe B, AfFA (R) 5 8

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827026768
Option 1 1D ;: 878270105581
Option 2 ID : 878270105582
Option 3 ID : 878270105583
Option 4 ID : 878270105584
Status : Answered
Chosen Option : 1

Q-56 e 41 i @ offs fergia o v eraf e 9 A, < a5 e B o e wen
7

(1) seEAEEl fFEh

@) e fagh

(3) wfgem fogia

() A s
Options 1.1

2.2

3.3

4.4

Question Type : MCQ
Question ID ; 87827026695
Option 1 1D : 878270105289
Option 2 ID : 878270105290
Option 3 1D : 878270105291
Option 41D : 878270105292
Status : Answered
Chosen Option : 4
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Q.57

Options 1.1

Hewifers AR STHehias Guuw gaa feufa &t weam Fifa
(A) 7 =¥ o 9@ e

(B) ¥-Hel T@

(C) 3-Wel ge

(D) &9 FHTRET H 9AT T

= fou o fowed d 9 Wl 39 F 9 Fi0
(1) FEHIfers (A), (D) FHEHITe (B), (O)
(2) wEHIEF (A), (B) TR (D), (O)
(3) WeHa® (C), (A) FHEHIETF (D), (B)
(4) wEHIE (D), (A) FHEHE (B), (C)
2.2

3.3
4.4

Question Type : MCQ
Question ID : 87827026737
Option 1 1D : 878270105457
Option 2 ID : 878270105458
Option 3 ID : 878270105459
Option 4 1D : 878270105460
Status : Answered
Chosen Option : 1
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Q.58

TRATA qEaRTerEl F1 g § fefsed (Digital) TR0 & @4 § ¢

(A) iRt =1 wumEt ST

(B) FHewm = § wiae

(C) F& o Fft ff gaw

(D) & SEeE ¥ werar | difa (g )

(E) U & HE9A 1 UF & T99 ° g IUHN FHdie g1 STET
= feu mu fawredl § 9 W& 39T F T FifA0

(1) %= (A), (B), (C), (D)

(2) Fad (A), (), (D), (B)

(3) = (A), (B), (D), (E)

@) Fa (C), (E), (B), (A)

Options 1. 1

2.2
3.3

4.4

Question Type : MCQ
Question ID : 87827026721
Option 110 : 878270105393
Option 2 ID : 878270105394
Option 3 1D : 878270105395
Option 4 |D : 878270105396

Chosen Option : 2

Status : Answered
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Q.59

fore & wmTa Fareare & Hewrqel S9v §
(A) ITd A4
(B) TNTA TR
(C) <mTa YA
(D) @nTd QR
(E) a9k
9 fou 7u fawedi § @ 9 IO 1 999 FIf9T
(1) @ (), (D) 3R (E)
(2) & (A), (B) 3 (C)
(3) FEE (A) 3R ()
(4) %= (B), (C), (D) ¥R (E)
Options 1.1
2.2
3.3
4.4

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

Question Type :
Question ID :

MCQ
87827026738
878270105461
B78270105462
878270105463
878270105464
Answered

4

Q.60

Which of the following is not an aspect of 4P model of creativity as given by Rhodes ?

()
@)
()
)

Options 1.1

22
3.3
4.4

Person
Peers
Process
Press

Question Type :
Question ID :
Option 11D :
Option 21D :
Option3 1D :
Option 41D :

Status :

Chosen Option :

MCQ
B7827026689
878270105265
878270105266
878270105267
878270105268
Answered

4
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Q.61

w1 7 g1 faem Fife
el -1
S et fargramr
(A) T TgE () =94 sFpnfaEl 1 | @ F1 wia F A ife 9 afefe
faan = ®1
(B) iRt Ta (1) =96 g0 F A0 AUEYE 9 6l 9EE wa § A
e, sy =i wfiemw fof &5 #)
(C) =8 Fge (1) 599 e W e st S e | w0 el o
T E R T g
(D) EaE TgeE (1) Z5H Heifir =1 e fem s # o Fofa &0 F geei
T4 & = E

e fau T fasedl 4 4 ot 390 F1 999 Fifa
(1) (A}, (B)-(1), (C)-(1V), (D)-(1D)
2) (A}, (B)-(IV), (Cy-(11), (D)-(1T)

@) (A1), B)-QV), ©-(1), (DH11)
(4) (AR, (B)-(I1), (C)-=(L), (D)-(1V)
Options 1. 1
2.2
2
4.4
Question Type : MCQ
Question ID : 87827026749
Option 11D : 878270105505
Option 2 |D : 878270105506
Option 3 ID : 878270105507
Option 4 ID : 878270105508
Status : Answered
Chosen Option : 3
Q.62 Arrange the leadership styles in the Blake and Mouton's managerial grid in order of their concern
for people from the least concern to the most concern ;
(A) Country Club Management
(B)  Authority Obedience Management
(C) Impoverished Management
(D) Team Management
(E) Middle of the Road Management
Choose the correct answer from the options given below :
) (©. D). (B), (A) ()
2) (D) (A) (B), (©) (E)
@ (B, ([E) ©), (A), )
@) (B). (C). (D), (A). (E)
Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026759
Option 11D : 878270105545
Option 2 1D : 878270105546
Option 3 1D : 878270105547
Option 4 ID : 878270105548
Status : Answered
Chosen Option : 1
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Q.63

FFAF IR F T A A T A I S FUA TR 8 2

(A

) defifa wdier e AheE ¥ gefea da ¥

(B) wHHIE Hefifa wiem Armedss e | Hafud 2a €1
(C) WM& Hefda TiemT GEeTs FHeH ¥ Fafd 2 2

D

) A Hefda wWiem dnmreres seher 8 Hafud dar ¥

(E) ArTica qodishd wahfa § sifam a2
9 feu 7 fawedi # 9 W& 39 T T HIfAC

(1) ae (B) 3 (E)
(2) ad (B) 3R (O
(3) @®ad (A) 3R (D)
@) @A (A), (D) 3 (E)
Options 1. 1
2:2
3.3
4.4
Question Type : MCQ
Question ID : 87827026716
Option 11D : 878270105373
Option 2 1D : 878270105374
Option 3 1D : 878270105375
Option 4 1D : 878270105376
Status : Answered
Chosen Option : 4
B afs @ F e e ofimen | ofted @ & o weEE w0 F o e v @ v fee s
=fe ?
(1) wEmTEE WY
Q) “gates oy
(3)
4) T WY
Options 1. 1
)
3.3
4.4

Question Type

Status

Chosen Option :

: MCQ
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
: Answered

87827026699

878270105305
878270105306
878270105307
878270105308

3
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Q.65
The correct sequences of stages of curriculum evaluation is :

(A) Planning

(B) Regular Monitoring

(C) Goal Specification

(D) Validation

(E) Field Testing

Choose the correct answer from the options given below :
(1) (A), (B), (O, (D), (B)

@ (E), D) (A), ©, (B)

() (), (D). (A), (B), (B)

@) (©), (A), (D), (B), (B)

Options 1. 1
2.2
3:3
4.4
Question Type : MCQ
Question ID : 87827026753
Option 1 1D : 878270105521
Option 2 ID : 878270105522
Option 310 : 878270105523
Option 410 : 878270105524
Status : Answered
Chosen Option : 1
Q.66 : .
Professional norms of teacher education are developed by :
(1) NCTE
(2) IGNOU
(3) UGC
(4) NCERT
Options 1. 1
22
3.3
4.4

Question Type : MCQ
Question ID : 87827026693
Option 11D : 878270105281
Option 2 |D : 878270105282
Option 31D : 878270105283
Option 4 1D : 878270105284
Status : Answered
Chosen Option : 1
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Q67 o it vy i svomr  sita 0 ) w2 AR e 5, e R v
(1y @ -wEe
(2) WEANREE WY
(3) Frfe g
(4) fafaa e
Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026702
Option 11D : 878270105317
Option 2 ID : 878270105318
Option 31D : 878270105319
Option 4 ID : 878270105320
Status : Answered
Chosen Option : 2
Q.68
e & 4R, 9fg = mufas FRF 7
(A) Tnfaw draa
(B) weEarl Hfq
(C) T 9H1EH
(D) weaaftRto 71fq
(E) a&ufa
= fou mu fawedi § | W& I H T BT
(1) w94 (B)
() Faa (A) 3R (O
(3) %ad (A) 3R (E)
@) =ad (E)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026728
Option 11D : 878270105421
Option 2 |D : 878270105422
Option 3 1D : 878270105423
Option 410 : 878270105424
Status : Answered
Chosen Option : 4
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Q.69

Fre % & e 1 aw s e & T wn e s € ol e 6 faane F e o e

g7
(1) &Te" A
2) fy-wAfugmrms F7
(3) @A
@) = e
Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026690
Option 110 : 878270105269
Option 2 ID : 878270105270
Option 3 ID : 878270105271
Option 4 |D : 878270105272
Status : Answered
Chosen Option : 4
Q70 1he Virtual University for Small States of Commonwealth (VUSSC) in 2000 was initiated by :
(1) Inflibnet
(2) Commonwealth of Learning
(3) Delnet
(4) IGNOU
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026708
Option 11D : 878270105341
Option 2 ID : 878270105342
Option 3 |D : 878270105343
Option 4 ID : 878270105344
Status : Answered
Chosen Option : 4
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an According to WHO statistics (2011) arrange the following from most prevalent to least prevalent

communication related disabilities :

(A) Communication related Disabilities
(B) Mobility related Disabilities

(C) Hearing related Disabilities

(D) Vision related Disabilities

(E) Cognition related Disabilities
Choose the correct answer from the options given below :
M) (B (A), (©), (D), (B)

@  (B), (D). ©) (A). (E)

(3) (A (©), (E), (B), (D)

4)  (C) (A), (B), (E), (D)

Options 1.1
2.2
3,3
4.4
Question Type : MCQ
Question ID : 87827026760
Option 1 1D : 878270105549
Option 2 ID : 878270105550
Option 31D : 878270105551
Option 4 |1D : 878270105552
Status : Answered
Chosen Option : 2
Q72 sygsmfume T AR (A) F w9 § fafad § 9 g 39% ST (R) F ' 9§
firRe (A) ;T 3 Sferer e wrfe 6 & i vt sttt 1 Ao wrEE o A fm g
AT (R) : Sifer v o Ao g st @ wifE 9w S w0 8 3w fola w0 o Sfes
SEER O W FE H W T a9 §)
TYIE HYA & A §, 7 feu m famedt § |t 3w e il
(1) =Ff(A) 31 (R) 53 £ 27 (R), (A) F1 5 = &
(2) =H (A) 3 (R) T & S (R), (A) F 98 =00 96\
(@) (A) T E A (R) 797 F
(@) (A) F9d ¥ @A (R) 99§
Options 1.1
2.2
e
4.4
Question Type : MCQ
Question ID : 87827026771
Option 110 : 878270105593
Option 2 ID : 878270105594
Option 310D : 878270105595
Option 410D : 878270105596
Status : Answered
Chosen Option : 4
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Q.73

HEAt-1 7 eI F e i
HER-1 HqE-11

(A) FAEF TR () =, TFed 9 AmEE

(B) WenFIeE TER (I fam, g6, e

(€) HEA TR (1) =, e 5yt

(D) FIHEE TR (IV) FoiaH, Temrhsl & s 39 9y 97 S 8
& T, s e

e fau o faedi § | HE S FEA RO

(1) (AHD. (B)-(I), (©)-(L), (D)-IV)
2) (AR, (B)-D, (C)-(1), (D)-(1V)
(@) (ARIV), (B)-(), (©)-(1), (D)-(HT)
@) (ARIV), (B)-(D), (C)-(1T), (D)-(IT)

Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026745
Option 110 : 878270105489
Option 2 1D : 878270105490
Option 310 : 878270105491
Option 410D : 878270105492
Status : Answered
Chosen Option : 4
Q.74
giferss F AFaR Afm F1 fodias fam fefafea §a Fm w2
(1) o - fam
(2) #FH - |
@) e wfafafy - fagia
@) 9vE - fagid
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026687
Option 11D : 878270105257
Option 2 1D : 878270105258
Option 3 |1D : 878270105259
Option 4 |D : 878270105260
Status : Answered
Chosen Option : 2
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Q.75

gl et | & foraes e W sifusd 5o ot 82

(1) §uA faa
() wfaviel faa
@) #fvard fHe
@) H9ERl fHa
Options 1.1
2.2
4

Question Type : MCQ
Question ID : 87827026697
Option 11D : 878270105297
Option 2 1D : 878270105298
Option 3 1D : 878270105299
Option 4 |1D : 878270105300
Status : Answered
Chosen Option : 4

9:26 i & e Tou u & uw s (A) w9 1§ fofan & o 280 39 o (R) F =99

Afirmed (A) : AR F e F aEer & fou fafiem wER w e A ST 3R
TR 1 WA A = |

/T (R) : IS AT WA ST S Wl o fer & fafe A W it si s & A
o = UG FAA d wee T E

TTIE FA F A 4, T fen T fawed 4 @ wdh 3w amm wifew

(1) = (A) 3 (R) T3 T W (R), (A) FHE = R

(2) 3H (A) 3 (R) T & S (R), (A) F1 T = 18§

(3) (A) &9 E ofF (R) 954 &

(@) (A) FEF Gl (R) R

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question 1D : 87827026772
Option 1 1D ; 878270105597
Option 2 1D : 878270105598
Option 3 1D : 878270105599
Option 4 1D : 878270105600
Status : Answered
Chosen Option : 2
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Q.77 fger 35 forern v , srer SuROT w9 G St Crtfe s & v e a e
T A £ 7

(1) wFEE e fanfe ) ereeeE e afea sfea s ofoom 1 weffa 5031 9m a0
THA B

(2) Fermnet feweram, Temite 9 ifeawa #1 wevE # w6 ¥

() wAreE e W wva e Tt wofen aw 7 gum o e s R artfie

() TdH 9 =d WA U g At w1

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026705
Option 11D : 878270105329
Option 2 ID : 878270105330
Option 3 ID : 878270105331
Option 4 |D : 878270105332
Status : Answered
Chosen Option : 3
Q.78

Arrange the following steps of AADIE model framework in the correct sequence :
(A) Design

(B) Analysis

(C) Implementation

(D) Evaluation

(E) Development

Choose the correct answer from the options given below :
(1) (©), (B), (A), (E) and (D)

(2)  (B), (A). (E), (C) and (D)

(3)  (B), (©), (E), (A) and (D)

(4)  (B), (D), (E), (A), and (C)

Options 1.1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 87827026757
Option 1 ID : 878270105537
Option 2 1D : 878270105538
Option 3 ID : 878270105539
Option 41D : 878270105540
Status : Answered
Chosen Option: 2
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Q.79

FYAE 9 5 % AR TATH T&] % HHeH B H ¢ 2

(A) ™
(B) W
©€) =
(D) vt
(E) ¥

9 feu mu fawedi § § WE I H T4 FifC ;
(1) =a (A), (B) #X (C)

(2) %= (B), (C), (D) &R (E)

(3) %= (B) ¥R (O

@) @ (D) 3 (E)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026717
Option 1 ID : 878270105377
Option 2 ID : 878270105378
Option 310 : 878270105379
Option 4 1D : 878270105380
Status : Answered
Chosen Option : 3

(A)
®

(€

(D)
(E)

Q80 g

Tl o Wi difge e ST e, Wi, Wiee snte £ O weaedl wEi g |
YTl % WG SAEeR W Al I F A W, GAEEE], GHeIAE, aihE-aqiTs 4
wrTites S 3 w9 H i ST S E

Al Wi AEEaEE - S AR S # TR v deE e e O F@
wE|

Tl o fd et et A ST e, g, S, FHw T S W s S g

T o at TrEerAET s fame s e w5 s s uie § Te ¢ i it
a arifer gfie & faen w w=t & §1

e T o, Tl 4 W 39T 91 SEA I :

(1) F=E (A) S (B)
@ % (E)
(3) et (B) M (D)
@) F=a (8) 3 ()
Options 1.1
2.2
3.3
4.4
Question Type :
Question 1D :
Option11D:
Option 2 ID
Option 31D :
Option 41D :
Status :
Chosen Option :

: 878270105438

MCQ
87827026732
878270105437

878270105439
878270105440
Answered

1

G
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W Taylor Postcard Frame is used for :

(1) Writing large character Braille on one side of the paper
(2) Writing large character Braille on both side of the paper
(3) Writing small character Braille on one side of the paper
(4) Writing small character Braille on both side of the paper

= (1) : Gt &9 wlte favasda § fig ot favagdta whem 3y 5 8a &

HAA (1) : 73 famser fafy =1 wam farsit wiem =7 favagsmm Fuife 3 & fou fmm m 2
T FUA F o o, " fag o fawedt F | ot 3w = Fif

(1) e ST He 1S 9§

(2) HUA T w1 I FHA §

(3) w1 TA 7, A HmEA U FHA E

() WU ITEA E, A RN FA T

Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026714
Option 1 ID : 878270105365
Option 2 ID : 878270105366
Option 3 ID : 878270105367
Option 41D : 878270105368
Status : Answered
Chosen Option : 1
82 sy & o g #:

Options 1.1
2.2
3.3
4.4
Question Type :
Question ID :
Option11D:
Option 2 1D :
Option 3 1D :
Option 4 1D
Status
Chosen Option :

MCQ
87827026765
878270105569
878270105570
878270105571

: 878270105572
: Answered

1
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Q.83

= § § F1-FF 6 F 99 g fH e #2
(A) T

(B) wmfe e

(C) wFfd FI 3R St

(D) W™ " F &9 H 59 odl £

(E) ¥M %had deh T eI 21

(1) & (A), (B) ¥R (C)

9 feu u fawedi § | W I F FIA Fif0 ;

() %ad@ (D)
(3) Fad (A) #R (D)
@4) FF (E)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026727
Option 1 1D : 878270105417
Option 2 1D : 878270105418
Option 31D : 878270105419
Option 41D : 878270105420
Status : Answered
Chosen Option : 1
Q.84 x
oromaar frer 4 ot 2w &2
(1) Wit §
() SafEH T W T
(3) HmIfSTR WAl H Al
@) Tafec feafaai § smn
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026711
Option 1 1D : 878270105353
Option 2 1D : 878270105354
Option 3 1D : 878270105355
Option 4 1D : 878270105356
Status : Answered
Chosen Option : 4
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Q.85 Match List - I with List - I1.

for a student with a disability

Choose the correct answer from the options given below :
(1) (AX), (B)-(V), (C-1). (D)-(11)
@) (A1), (B)-(D), (OIV), (D))
() (AR(V). (B)-(1I1), (C)-(1), (D)-(1T)
(#) (A1), (By-(uD), (C)-{IV), (D)D)

(C) Least Restrictive Environment () Placing students with disabilities in regular

List - 1 List - 11
Concept Explanation
(A) Mainstreaming () A legal requirement specifying that students with
disabilities should be educated in typical classrooms
to the maximum extent possible
(B)  Full Inclusion () A document outlining educational goals and services

(LRE) education classes for a portion of the day
(D) Individualized Education Program (IV) Inclusive education model where students with
(IEP) disabilities are fully integrated into regular
classrooms

Options 1. 1
2:2
3:3
4.4
Question Type : MCQ
Question ID : 87827026750
Option 11D : 878270105509
Option 2 1D : 878270105510
Option 3 ID : 878270105511
Option 4 1D : 878270105512
Status : Answered
Chosen Option : 1
Q86 \yhich of the following is correct ?
(A) CIPP model for curriculum evaluation is developed by Daniel Mento in 1949
(B) Tayler's curriculum model is a four part linear model
(C) CIPP model for curriculum evaluation is based on “how can we determine whether the
purposes are being attained ?”
(D} CIPP model for curriculum evaluation involves the steps and resources needed to meet the
new goals and objectives and might include identifying successful external programes and
materials as well as gathering information
(E) Tayler's model for curriculum evaluation provides decision makers with information about
how well the programme is being implemented
Choose the correct answer from the options given below ;
(1) (B)and (E) Only
(2)  (A) Only
(3) () Only
4) (B) and (D) Only
Options 1. 1
20
3.3
4.4
Question Type : MCQ
Question ID : 87827026730
Option 11D : 878270105429
Option 2 1D : 878270105430
Option 3 |1D : 878270105431
Option 4 ID : 878270105432
Status : Answered
Chosen Option : 4
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Q.87

o1 § wmma e faverow & gerva fagid) § wfmfea @

(A) T2 HeAiHA

(B) T&dwal I SHafred Al
(C) fomHt gedishA

(D) 3Wd & aa Fufo
(E) dRTcHS oi@ish

9 feu mu fawedi d§ 9 WE I H 9749 HifaU
(1) =d (O)

(2) o (A) 3 (B)

(3) F=d (A), (C) ¥ (E)

@) %4 (B), (C) R (D)

Options 1.1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026739
Option 11D : 878270105465
Option 2 ID : 878270105466
Option 31D : 878270105467
Option 41D : 878270105468
Status : Answered
Chosen Option : 3
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Q.88

frefafea =t ey § =afem Fife
(A) TR AYFFHIER

(B) SFAWaETdIdaETE

(€) SAFHAER

(D) favewomers 23

() dHafgar

9 fou 7u fawedi # 9 W& IO 1 999 Fifo ;
(1) (E), (B), (O), (A), (D)

2) (B), (D), (A), (©), (E)

3) (B), (), (E), (A), (D)

@) (E), (©),(B), (D), (A)

Match the following books with their authors

Choose the correct answer from the options given below :
(1) (AMIV), (B)-(I0), (C)-(I), (D)-(I1)

(2) (A)y-(II), (B)-(IV), (C)-(111), (D)~(T)

(3) (A)-(Im), (B)-(11), (C)-(IV), (D)-()

@) (A)-(D), (B)-(IV), (C)-(1I), (D)-(T)

Options 1. 1

2.2

3:3

4.4

List - 1 List - 11
(A) Shaikshik Gyan Aur Varchasva (I) Gijubhai Badheka
(B) Shiksha Mein Badlav Ke Sawal (I) Sadhna Saxena
(C) Shiksha Aur Jan Andolan (ITT) Krishna Kumar
(D) Divaswapn (IV) Anil Sadgopal

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026752
Option 11D : 878270105517
Option 2 ID : 878270105518
Option 310 : 878270105519
Option 41D : 878270105520
Status : Answered
Chosen Option : 4
Q89  Match List - I with List - IL

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
87827026743
878270105481
878270105482
878270105483
B78270105484
Answered

3
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Q.90  Match List - I with List - I1.
Match the following

List - 1 List - 11
Books Authors
(A) Emotional Intelligence : Why It Can Matter More Than IQ () DarwinC
(B) Emotion, Obesity and Crime (II)  Young, P.T.
(€) Emotion In Man and Animal (1) Goleman, D.
(D) The Expression of the Emotions in Man and Animals {IV) Schachter,S.

Choose the correct answer from the options given below :
(1) (A1), (B)-(1), (C)-(1V), (D)}-(IT)
(2)  (A)-(), (B)-(IV), (©)-(I), (D)-(T)
(3) (A0, (B)-(ID), (C)-(IM), (D)-(IV)
() (A)X-(V), (B)-(111), (©)-(1), (D)-(1)

Options 1. 1
2.2
33
4.4
Question Type : MCQ
Question ID : 87827026746
Option 11D : 878270105493
Option 2 1D : 878270105494
Option 3 1D : 878270105495
Option 4 ID : 878270105496
Status : Answered
Chosen Option : 2
Q.91 L
Frerfefiad =1 918 FeFT o 1 WY fq § sgafeyd Hifea
(A) FEI
(B) fafeme 3g5wa
(C) TEwA
(D) faw s%q xgfa

(B) A
Fra fau o foamwedi § | W I 1 F5 Fifow

1) (B), (A) (D), (E), (O
2) (A),(©), (B), (D), (B)
3)  (©), (A), (D), (B), (E)
@) (D), (E), (A), (B), (O

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question 10 : 87827026761
Option 11D : 878270105553
Option 2 ID : 878270105554
Option 3 ID : 878270105555
Option 4 1D : 878270105556
Status : Answered
Chosen Option : 1
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Q.92

w1, safa, 9, 9 gt feifea & TR
1) TEF
(2) @ %

MCQ
87827026710
878270105349
878270105350
878270105351
878270105352
Answered

45

() TEHYF
@) e sAfufa=ma &
Options 1.1
2.9
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option31D:
Option 41D :
Status :
Chosen Option
Q.93 Grydents of high intelligence will significantly do better in their academic achievement” which
type of hypothesis is it 7
(1) Directional Hy pothesis
(2) Non-directional Hypothesis
(3)  Null-Hypothesis
(4) Concurrent Hypothesis
Options 1. 1
2.2
i3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

MCQ
87827026700
878270105309
878270105310
878270105311
878270105312
Answered

1

(% scanned with OKEN Scanner




T - a a7 fre fF w e ?
Q9% e fovn 1 v st e = s ST e A f e T ST AR

(A) ZFvE s sfam

(B) % fifom sfam

(C) A #F i e

(D) sirafeas foran womedt & sgER

(B) @ sifam oftam

= fou mu fawedi d | WE 3N 1 w9 wifew

(1) F=4 (A), (B), (©)

@) Fa@ (A), (B), (O 3 (E)

@) Faa (B), (O), (D) W (E)

@) = () (D)
Options 1. 1

2.2

3.3

4. 4

Question Type : MCQ
Question ID : 87827026715
Option 1 1D : 878270105369
Option 2 ID : 878270105370
Option 3 1D : 878270105371
Option 41D : 878270105372
Status : Answered
Chosen Option : 1

Q.95 Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Buddhism is a nastik school of philosophy
Reason (R) : Astik - nastik in Indian philosophy is about faith in vedas

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026770
Option 1 ID : 878270105589
Option 2 |ID : 878270105590
Option 3 10 : 878270105591
Option 4 |D : 878270105592
Status : Answered
Chosen Option : 1
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Q.96

" sifermm ¥ sRer” FE A | TR mew S ®2
(1) @frm 947 & s

() fawa axg =1 Uivaa SHA &G ST

@) Toenfef=i & yamom ¥q smewed

@4) ToenfefEi 1 I w0 ¥ AHA

Options 1.1
2.9
3.3
4.4
Question Type : MCQ
Question ID : 87827026704
Option 1 1D : 878270105325
Option 2 ID : 878270105326
Option 3 1D : 878270105327
Option 4 |D : 878270105328
Status : Answered
Chosen Option : 1
Q.97

‘efifizem’ (FEa: givwTel) F si, e § B S0 een 5eeE F U wE § S wmen @
Wi @ T o Hay 8 e fufy g aifea fufa F o sm a veem w5 o e e gmam
0 TW A0 W FH FA F o e we E

(1) FeEA-EA (diE-tE) faemm

@) HE F W

(3) F9-Igavd fawemm

(4) = | IR S0 FE FE

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827026696
Option 1 1D : 878270105293
Option 2 |D : 878270105294
Option 3 ID : 878270105295
Option 4 |1D : 878270105296
Status : Answered
Chosen Option : 1
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Q.98

1)

@)

@)

)
Options 1. 1
2.2

3.3
4.4

et faem - sifem #g frefafes § FF- gaifus geay €2

Siferr drenfient
foreror drenfirert
TEATTIed Yranfirent
e gt

Question Type : MCQ
Question ID : 87827026707
Option 1 1D : 878270105337
Option 2 ID : 878270105338
Option 3 |D : 878270105339
Option 4 1D : 878270105340
Status : Answered
Chosen Option: 3

(1)
)
(3)
)
Options 1.1

2.2
3.3
4.4

@99 i 2 o e ¥ -
HoA (1) : S g8 wfnfa 3 gl 7 aweim = gee fem o
A (1) : 72 AAH F1 G o1 FF AT F w@Ea g F e m e s F =t
I FYA F AEE H, 44 5 T fawed § | w6 Iw g9 Hife

YA | 57 WA 1 € 5§

HUA | 317 e 11 3 o §
HUT | T 2, Fi e 11 35 §
HUA | 3 ¥, O w0 T &

Question Type : MCQ
Question ID : 87827026763
Option 1 ID : 878270105561
Option 2 1D : 878270105562
Option 3 1D : 878270105563
Option 4 1D : 878270105564
Status : Answered
Chosen Option : 3
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Q100 4o o P £ -
wUA (1) . Aeeifed % srEn TeasE H Wi e s R s @ e e v v w
T TR fa9a HaE A E )
A (1) : TATSHER] TR § S agvE S faudi woae o swm faws weeEn sy
AR 3N fawen =9 i #
T A F AN °, 7 fau o fawed § 4wl 3w 9wl
(1) =ReF 1 1 FEA 1A 57 &
(2) hE 1 R A 11 SH A E
(3) e 1T 2, AT w1 T
(4) HITIFAA T, T RN A F
Options 1.1
2.2
3,3
4.4
Question Type : MCQ
Question ID : 87827026764
Option 1 1D : 878270105565
Option 2 ID : 878270105566
Option 31D : 878270105567
Option 4 1D : 878270105568
Status : Answered
Chosen Option : 1
Q.101
gelt-1 9 gei-11 1 frem #ifs
frefafaa Tl &1 7% sl & 99 faam sifsm |
Teit-1 FEft-11
(A) TSI 36 A O < SEt
(B) E THfc Fmmer (I 9fer Y
(C) THBRH UE TgHIA (1) =és W
(D) TUSHYA TS | 31EX (IV) 3 3fer=
= fou o faeredi | | W&t W H F77 i
(1) (A)-(I), (B)-(IV), (C)=(1), (D)~(ILT)
2) (A1), (B)-I0), (O)-(111), (D)-(IV)
@) (A)-(1D), B)-(D), (O)-(1V), (D)-(I11)
4) (A)-(O), (B)-(IV), (O)-(I), (D)-(IT)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026744
Option 11D : 878270105485
Option 2 1D : 878270105486
Option 3 1D : 878270105487
Option 4 ID : 878270105488
Status : Answered
Chosen Option : 1
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Qi102 9 % o e &
A (1) :  Tovan § e F dwern w1 wwnm snyfe denfE o done 1 sremm 8 Fuife s

i

e (1) ¢ foven # wpwasn # it 9 dweEl wfea wnwl w1 e omes gaen § e e, fam

Faferri, smarem 5 i TafETn wfner @ 8

IYAE FYA F A §, T4 fon e § 1wl 3w T FifEn

(1) HgT1 1 e 10 EH T F
(2) hE 1 R A 11 SH A E
(3) O T E, A HEA L T ©
(4) HITIFAA T, T RN A F
Options 1.1
2.2
3,3
4.4
Question Type : MCQ
Question ID : 87827026767
Option 1 1D : 878270105577
Option 2 ID : 878270105578
Option 31D : 878270105579
Option 4 1D : 878270105580
Status : Answered
Chosen Option : 4
Q103 o forren whon 3 fafififa el 77 wifiers = & 2 a8 ) Forel v 8 22
(1) 95.99966 %
(2) 99.99966 %
(3) 98.99966 %
(4) 9699966 %
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026713
Option 11D : 878270105361
Option 2 ID : 878270105362
Option 3 1D : 878270105363
Option 4 1D : 878270105364
Status : Answered
Chosen Option : 2
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Q.104

-1 | g1 frem i

-1 -1

g AET T
(A) g B (n v feaf | yers @avrd waa sfaetE
(B) - wfyram (1) wmfsE R, FRE
(C) =FEe gau (ry wrters feufa # gfear & &g fagifa = faFen
(D) fagiaw (IV) @@ 184

= fau mu fasmed § & Wt 39T F =999 Fife
(1) (A, (B)-(LLI), (C)-(I1), (D)-(IV)
(2)  (A)-(V), (B)-(I), (C)-IIL), (D)-(11)
(3)  (A)-(mm), (B)-(1), (C)-(11), (D)-(1V)
(1)  (A)-(D), (B)-(I), (C)-(IV), (D)-(T)

Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026747
Option 1 1D : 878270105497
Option 2 ID : 878270105498
Option 31D : 878270105499
Option 4 |D : 878270105500
Status : Answered
Chosen Option : 4
Q.105 ) "
=1 <9 F IR IF Wi #t 7= 8 | FE-FE 9 Gt g2
(A) T
(B) S¥gHM
(C) sumfa
(D) =fa
(E) &A9E
9 feu mu fomedi d§ | W IO F1 9 Hi
(1) Fad (C) 3R (E)
(2) 94 () 3 (D)
(3) Fad (A) 3T (B)
(4) 9 (B) 3 (E)
Options 1.1
2.2
33
4.4
Question Type : MCQ
Question ID : 87827026726
Option 110 : 878270105413
Option 2 |10 : 878270105414
Option 3 ID : 878270105415
Option 4 ID : 878270105416
Status : Answered
Chosen Option : 3
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Q.106

qT=at TiEdd #1 7= § § F9-9F gvifad wd € 2
(A) el § e

(B) et srrTd

(C) Wam foernl #1 eI

(D) T 7 wewqoi

(E) wmifoh-githfas Hed

19 feu mu fomedi # 8 W&t 3w 1 99 Fifw
(1) %9 (A) 3R (D)

(2) Faa (B) 3R (Q)

(3) %9 (D) 3R (E)

@4) Fa4 (O) ¥R (E)

Options 1.1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026729
Option 1 ID : 878270105425
Option 2 ID : 878270105426
Option 3 1D : 878270105427
Option 4 1D : 878270105428
Status : Answered
Chosen Option : 3

Q.107 Screening measures that can assist in the diagnosis of Autism Spectrum Disorder (ASD) include :
(A) Autism Behaviour Checklist (ABC)
(B) Development Behaviour Checklist (DBC)
(C) Self Confidence Checklist
(D) Psycho Educational Profile Revised (PEP - R)
(E} Hand Flapping
Choose the correct answer from the options given below :
(1) (A), (B), & (D) Only
@ (A)Only
@) (B), (C) & (D) Only
(@) (B), (O, (D) & (E) Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026735
Option 11D : 878270105449
Option 2 1D : 878270105450
Option 3 ID : 878270105451
Option 4 |D : 878270105452
Status : Answered
Chosen Option : 1
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Q.108

forddt vy Sy w1 favemiaa a A F Sy A e A FM A aa gd &7

(A) fovawma &g fima afterd &
(B) avren fervarriaa & 7d v &1

() Torvameir witem T 4y g ¥
(D) aw e gen favassa g &)

(B) Tt aiterm 0t favasriam @ dua & o= w1 9y 78 & )

= feu 7 faspedl d ¥ W 390 1 957 Fifew
(1) %ae (A) 3 (B)
@) = (A) 3 (C)
(@) @9 (A) 3 (D)
@) FFE (A) ()

Options 1. 1
2.2
3:3
4.4
Question Type : MCQ
Question ID : 87827026719
Option 1 ID : 878270105385
Option 2 ID : 878270105386
Option 3 ID : 878270105387
Option 4 1D : 878270105388
Status : Answered
Chosen Option: 3
Q.109
Afga et F TFR T
(A) fewfsan
(B) fhe
(C) sidifead

(E) wfagn

1 feu Tu formedi | W@ I F T FIf

1) @ad (A), (D) ¥R (B)
(2) @dd (D) 3T (E)

(3) e (C) 3 (D)

(4) & (A), (B), (C) #R (D)

Options 1. 1

29
3.3
4.4

Question Type : MCQ
Question ID : 87827026734
Option 11D : 878270105445
Option 2 ID : 878270105446
Option 3 ID : 878270105447
Option 4 ID : 878270105448
Status : Answered
Chosen Option : 1
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Q.110 o e -

(1) sFEE A st fafasdt § s wfed )
@) = HeTEs R § uftads g g fEaraa dm e g
@) T ufteds wia ¥ S " T ER g # )

(@) FTe F A aven |9t Fodl H§ wEAS Y STHemet A T e

Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

MCQ
87827026709
878270105345
878270105346
878270105347
B78270105348
Answered

4

QI et &5 sifon ot 3 e 3 Foreq 3 9 oo w0 82
(1) et =1 a3 & v =1 wiwn F feres 9 faaedtE 21 wafia
(2) Tormr vem w % A A faefel = g w2
(3) & T F H wErE wa ¢ o e warE @ sreEn 7

(4) Toer =Am@EH, W9 T2, AEET 0 a MR 3, afe & e | fafia B aafaa g

Options 1.1
2.2
3.3
4.4

Question Type :
Question 1D :
Option11D:
Option 21D :
Option 31D :
Option 41D :

Status

Chosen Option :

MCQ
87827026706
878270105333
878270105334
878270105335
878270105336

: Answered

3
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Q.112

frefafaa 1 FerFe § srafm wifg
(A) fowafomem R smm

(B) wreAfaa fonen swam

(€) s Tagfd afafa

(D) Tedra foen s

(B) fergan - siarir fedrd

4 fou v fomwedi § 9 W& IO N 997 Hif

1) (A) (B), (D), (©), (E)
2) (B), (A), (©), (D), (E)
@) (A) (D), (B), (E), (O
4) (B), (E), (O), (D), (A)

Options 1. 1

2.2
33
4.4

Question Type : MCQ
Question ID : 87827026751
Option 110 : 878270105513
Option 2 ID : 878270105514
Option 310 : 878270105515
Option 41D : 878270105516
Status : Answered
Chosen Option : 1
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Q.113

et T A Tyt Frefafad ver vweafaa 82
(A) TrarE T

(B) WiE® werd =HHA Ty

(€) Tr-Freencrs wwe

(D) foren g

(E) Treumeas sums

9 feu mu fomedi # 8 W&t 3w &1 99 Fifaw
(1) < (A) 3T (B)

(2) Faa (O R (E)

@) Fa@ (O

@4) Fa4 (D)

Options 1.1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026731
Option 11D : 878270105433
Option 2 ID : 878270105434
Option 31D : 878270105435
Option 41D : 878270105436
Status : Answered
Chosen Option : 2

QM a2 o e # -
weA (1) :  Fonegeh foen 1 90 vl sot wea=, sifvusey SR Horaen =1 9fF % wg-a9 @ 5
e mrgE ffed #1
HeA (1) : Tt H fw o v atEe e
THIE FY F A 5, 4 fon 7o fawedi § § wd I 95 Fifew
(1) a1 3 w0 T
(2) U1 T e U B ST §
(3) eI HA §, AfF wA I FEA ©
(1) HUTL AHAA €, A HLAUFA B
Options 1. 1
2:2
3.3
4.4

Question Type : MCQ
Question ID : 87827026762
Option 1 ID : 878270105557
Option 2 ID : 878270105558
Option 3 1D : 878270105559
Option 4 |D : 878270105560
Status : Answered
Chosen Option : 1
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Q.115

YR g9 § 1 7 | - anfes 82
(A) &g

(B) SH

©) e
(D) =M
(B) R

9 feu mu fawedi ° 9 WE 39 F 99 HIfA
(1) e (A) &R (B)

(2) @9 (A), (B) R (E)

(@) Fa (C) 3R (A)

@) %= (C) ¥R (D)

Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026725
Option 11D : 878270105409
Option 2 ID : 878270105410
Option 31D : 878270105411
Option 4 1D : 878270105412
Status : Answered
Chosen Option : 4
Q.116

Following is not a category of learning as per Gagne’s classification of learning :
(1) Stimulus Response Learning

(2) Chain Learning

(3) Ideational Learning

(4) Verbal Associate Learning

Options 1.1

2

3.3

4.4

Question Type : MCQ
Question ID : 87827026688
Option 1 ID : 878270105261
Option 2 ID : 878270105262
Option 3 1D : 878270105263
Option 4 |D : 878270105264
Status : Answered
Chosen Option : 3
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Q.117

$ifkrh iy | st farw S =t froe =il 6 FeTER SEten #if

(A) g FHEN & 99

(B) iy fafy =1 ==

(C) ity vl 1 Fmiw

(D) =& Huew o faverym

(E) uftoms gfad &

4 fou 7o fowedi § ¥ W& 90 &1 997 Fifw

1) (A), (B), (O, (D), (E)
2 (A), (©), (B), (D), (E)
@) (A), (D), (B), (©) (E)
@) (B) (A) (©) (D), (E)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026755
Option 1 1D : 878270105529
Option 2 ID : 878270105530
Option 3 1D : 878270105531
Option 4 1D : 878270105532
Status : Answered
Chosen Option : 3
Q.118 . . "
A zero rejection policy was adopted under :
(1) National Policy of Education, 1986
(2) Persons with Disability Act, 1995
(3) Sarva Shiksha Abhiyan, 2001
(4) National Curriculum Framework, 2005
Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026712
Option 1 1D : 878270105357
Option 2 ID : 878270105358
Option 3 1D : 878270105359
Option 4 1D : 878270105360
Status : Answered
Chosen Option : 4
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.119
R Erotetic teaching relies on

(1) Questioning
(2) Homework
(3) Activity

(4) Lecturing

Options 1. 1
2.2
3.3
4.4

as a central pedagogic technique,

Question Type : MCQ
Question ID : 87827026684
Option 11D : 878270105245
Option 2 1D : 878270105246
Option 3 1D : 878270105247
Option 4 1D : 878270105248
Status : Answered
Chosen Option : 3

Q.120
(1) sifvram
() mmfS* s =97
(3) waiE
@) mmEfss afiEd
Options 1. 1
2.2
33
4.4

e § § #F S-wwfem sdem g wwfem & arfss w6 wmen s g ?

Question Type : MCQ
Question ID : 87827026686
Option 1 ID : 878270105253
Option 2 ID : 878270105254
Option 3 1D : 878270105255
Option 4 1D : 878270105256
Status : Answered
Chosen Option : 3
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Q.121

R § Tdan Wit o 9yema et fner s o g o €
(A) wreafas faan s

(B)

T2 forers M

(€) e wagfd afafa
(D) foavafaemem foen smam

(E)

IS SATEnT

4 feu mu famedi # 9 W& 9T 1 =TI Fifew

1)
@)
®)
)

Options 1. 1

2.2
3.3
4.4

(D), (A), (E), (B), (©)
(A), (©), (D), (E), (B)
(D), (B), (A), (©), (E)
(A), (©), (D), (B), (E)

Question Type : MCQ
Question ID ;: 87827026758
Option 110 : 878270105541
Option 2 1D : 878270105542
Option 3 1D : 878270105543
Option 4 1D : 878270105544

Chosen Option : 1

Status : Answered

Q.122

e i A W R

(A)
(B)

(€) Vs 9 ifas fagr dast vig & Fredl &1 T g9 91 3 & w5 s 2

D)
(E)

Siferr i wpfa & smanfess & &
St iy 1 gorafie @91 wifew)

Sifegr wia 1 @ B =y |
Jfer via 1 favawa @ =few)

e fou 7o fashedi ® B WE AT H FHH Fifo

1)
)
3)
)

Options 1. 1

DX
3.3
4.4

Faa (A) 3 (B)

3¢l (A), (B) 3 (C)
Fad (D) 3 (E)

Fad (A), (B), (D) 3 (B)

Question Type : MCQ
Question ID : 87827026718
Option 1 1D : 878270105381
Option 2 |1D : 878270105382
Option 3 ID : 878270105383
Option 4 |1D : 878270105384

Chosen Option : 4

Status : Answered

(% scanned with OKEN Scanner



Q123 Match List - I with List - 11
Match the following with List - I and List - II

List - 1 List - 11
(A) Measurement (I) Value Judgement
(B) Assessment (IT) Standardized test
(C) Evaluation (IIT) Quantitative description
(D) Norm (IV) Qualitative description

Choose the correct answer from the options given below :
(1) (AIV), (B)-(I), (C)-(1I), (D)-(ILI)
(2)  (A)-(IIm), (B)-(IV), (O)-(II), (D)~(I)
(3)  (A)(1D), (B)-(D), (C)-(IV), (D)-(II)
4)  (A)-(I), (B)-(IV), (C)-(1), (D)-(1I)
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 87827026742
Option 1 1D : 878270105477
Option 2 1D : 878270105478
Option 3 ID : 878270105479
Option 4 ID : 878270105480
Status : Answered
Chosen Option : 4
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Q.124

= § 4 forg-form =7 wieft & |19 irer <7 S&har €2

(A) HEHd 199
(B) € et
(C) Tiaisifer
(D) wnf<a FeRaA

(E) Torew smfia foen

9 fou 7u fawedi § 9 W I F FIH HifAU ;
(1) @9 (A), (B) 3R (E)

(2) @ (C) 3R (D)

(3) 9 (A) 3R (E)

4) =< (B) ¥R (D)

The difference between the values of “Parameter” and “Statistics” is called as :
(1) Type -1 Error

(2) Type -1I Error

(3) Sampling Error

(4) Error in Calculation

Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026724
Option 1 ID : 878270105405
Option 2 ID : 878270105406
Option 3 1D : 878270105407
Option 4 1D : 878270105408
Status : Answered
Chosen Option : 1
Q.125

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

MCQ
87827026701
878270105313
878270105314
878270105315
878270105316
Answered

3
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Q.126

frrefafaa § 4+ @1 sifarm eiye o3 &1 3SR 7 2 2
(A) T=@

(B) HTa™

(€) TgIE

(D) et

4 fou mu fasredi § 9 wét 39T F1 99 HifoQ

(1) &9a (A), (O, (B)

(2) %a4 (A), (B), (D)

(3) F=d@ (O), (A), (D)

(4) =4 (B), (O), (D)

Options 1.1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026736
Option 11D : 878270105453
Option 2 ID : 878270105454
Option 3 1D : 878270105455
Option 4 |D : 878270105456
Status : Answered
Chosen Option : 4

Q.127 Match List - I with List - 11
Match the following
List - I List - I

(A) E Learning (I)  Hyper media based instruction programme which utilizes
the attributes and resources of the world wide web to create
a meaningful learning environment where learning is
fostered and supported

(B) Virtual Learning (II)  Itis synonymous lo web based learning where learning is
fostered via hypertext transfer protocol (http) in internet
or intranet

(C) Web Based Instruction (1) A wide set of application and processes including computer
based learning, web based leaming, virtual classroom and
digital collaboration

(D) Online Learning {IV) The educational process of learning over the internet
without having face to face contact

Choose the correct answer from the options given below :

(1) (A, (B)-(H), (C)-(10), (D)-(1V)

@) (A, (B)-QV). (C)-(). (D}(11)

() (AFIV), (B)-(1). (C)-(111). (D)D)

(#)  (AMIV), (B)-(1), (©)-(1), (D)-(1)

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827026748
Option 1 1D : 878270105501
Option 2 1D : 878270105502
Option 3 1D : 878270105503
Option 4 |1D : 878270105504
Status : Answered
Chosen Option : 4
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Q.128 ‘Which is the sequence of taxonomy of cognitive domain as per Anderson and Krathwohl's taxonomy
(2001) ?
(A) Remembering
(B) Understanding
(C) Analysing
(D) Applying
(E) Evaluating
Choose the correct answer from the options given below :
1) (A). (B), (©). (D), (E)
@ (A)(© (B), D) E®)
() (A) (B), (D), (), (E)
() (A) (B) (D). (). (O

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026756
Option 11D : 878270105533
Option 2 1D : 878270105534
Option 3 ID : 878270105535
Option 4 |D : 878270105536
Status : Answered
Chosen Option : 3
Q.129

What is not related to education ?
(A) Direct benefit

(B) Indirect benefit

(C) Investment in people

(D) Human Resource development
(E) Public funding

Choose the correct answer from the options given below :
(1) (A) Only

(2) (B) and (C) Only

(3) (C) and (D) Only

(4) (B)and (E) Only

Options 1. 1

2.2

3.3
4.4

Question Type : MCQ
Question ID : 87827026722
Option 1 1D : 878270105397
Option 2 ID : 878270105398
Option 3 1D : 878270105399
Option 41D : 878270105400
Status : Answered
Chosen Option : 1
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Q.130

1 § | BA- A T 9vEd o e S € 2
(A) ISR 2T

(B) EX I M

(C) ol favafaaem smm
(D) ¢ dred™

(E) UM M

9 feu mu fawedi d 9 WE I F 97 FIfAC
(1) = (B) 3R (O

(2) FaC (A) 3 (E)

(3) FId (A), (C) ¥ (E)

@) %9 (B), (C) ¥ (D)

Options 1.1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026723
Option 1 1D : 878270105401
Option 2 ID : 878270105402
Option 31D : 878270105403
Option 41D : 878270105404
Status : Answered
Chosen Option : 2
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Q.131

A % TR F e | e F 3w 9 Fe wd ¥
(A) FIE A H arafas I F

(B) siaue ot ¥ arcafasw g da

(C) 3T AT 1 WA HHATHE "9 | o s
(D)  3faurel AT 1 wEn wEfEs wrE § faa s #
(E) orum "o 1 @it farferseand siaue wio & afufea 2t 2
= feu u fawredi § | W@ 39T F1 T Fifew

(1) Faa (A) 3 (C)

(2) @ (B) 3R (D)

(3) e (A) 3R (D)

(4) Fad (D) 3 (E)

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026720
Option 110 : 878270105389
Option 2 1D : 878270105390
Option 3 1D : 878270105391
Option 4 |1D : 878270105392
Status : Answered
Chosen Option : 1

Q.132 Which apex body is regulating integrated teacher education programme in the country ?

(1) NCERT
(2) NCTE
(3) NIEPA
4) UGC
Options 1.1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026694
Option 1 ID : 878270105285
Option 2 ID : 878270105286
Option 31D : 878270105287
Option 4 1D : 878270105288
Status : Answered
Chosen Option : 3
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Q133 v o e & 8 8 i 3 R B o e w0 E | o e 3w st A

T e et o 4 el dafm 7
(1) TS
2) wHEAER
(3) IR ayfEdaEE
(@) AmeEE
Options 1.1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026683
Option 1 10 : 878270105241
Option 2 1D : 878270105242
Option 3 ID : 878270105243
Option 410 : 878270105244
Status : Answered
Chosen Option : 4
Q.134
fareH e & TR E :

(A) T 99 fafy

(B) @mTa =y faverym

() frarsm, danfe oir sste fmfo g
(D) WEYHF TUrE

(E) T gedihd THie aaAs

= fou mu fawedi § | WE I H T HifU
(1) Faa (A) 3R (D)

(2) %= (C), (D) 3R (E)

(3) 9 (B), (D) 3R (E)

(4) % (A), (B), (C) 3 (D)

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026740
Option 11D : 878270105469
Option 2 1D : 878270105470
Option 3 1D : 878270105471
Option 4 |D : 878270105472
Status : Answered
Chosen Option : 2
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Q.135

Which of the following can not be associated with “Discipline’ ?

(1) Authority
(2) Punishment
(3) Reward
(4) Child Centeredness
Options 1.1
2.2
33
4.4
Question Type : MCQ
Question ID : 87827026685
Option 11D : 878270105249
Option 2 ID : 878270105250
Option 3 ID : 878270105251
Option 4 D : 878270105252
Status : Answered
Chosen Option : 1
Q.136 Match List - I with List - IL
Match the following with List - T and List -11
List- I List - 11
(A) Stratified random sampling (I)  Error in sampling
(B) Purposive sampling (I) Sample
(C) A representative proportion of the population (l11) Non-probability
sampling
(D) Difference between the estimate of parameter and stalistics  (IV) Probability sampling
Choose the correct answer from the options given below :
(1) (AHIV), (B)~(IID), (C-(D), (D)-(1
() (A)-(m), (B)-(IV), (C)-(I0), (D)D)
(3)  (A)H(IV), (B)-(IIL), (C)-(10), (D)(T)
@) (A)(), (B)-(IV), (C)-(D), (D)-(1D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827026741
Option 11D : 878270105473
Option 2 ID : 878270105474
Option 3 ID : B78270105475
Option 4 ID : 878270105476
Status : Answered
Chosen Option : 3
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Q137 i o e ¥ -
weA (1) afermerdl & fafaw 6 % gsem ®1 weA F5% wEtHaEs w5 afies @ § A @
Trzwifer s & =9 1 w5 W )
e (11) : TEwfer sl F wrEtmeT siwe w1 amewE S )
THIE FeR F A |, 4 fau e fawedt § 5wl I wite
(1) a1 3T T 0 EH T ¥
(2) e 1 7 w1 SH A §
(3) HUFITA E, A FLAU TTA T
(@) T HEH T, A HET U A E
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026766
Option 11D : 878270105573
Option 2 |D : 878270105574
Option 3 1D : 878270105575
Option 4 1D : 878270105576
Status : Answered
Chosen Option : 1

e s vl eardt wfa # sofeed gem wo oA da ®, s wmm m fra A e wEm s AA €2
(1) eHEST
@ feyEE
(3) wfaffuramms svas=m
(4) T FIVEEAA
Options 1. 1
2.2
3.8
4.4

Question Type : MCQ
Question ID : 87827026698
Option 11D : 878270105301
Option 2 |ID : 878270105302
Option 3 1D : 878270105303
Option 4 |D : 878270105304
Status : Answered
Chosen Option : 1
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0,139 T, e 9 e ) sianiea S (ICF) U Sl # WAl & W H S e
4 4 frew 4= %7 ofa. & =9 § deerds F9 §1

(A) &= feafaar

(B) TEEIE FEE

(C) Fafws FuF

(D) =7l FrE

(E) aEmEmt &

e fau o famedl § 4 Wl 39 999 i .

(1) %A@ (A) 3 (B)

(2) &€ (A), (B) 9 (C)

() F=E (C), (D) T (E)

(@) e (D) 4R (E)
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827026733
Option 11D : 878270105441
Option 2 ID : 878270105442
Option 3 ID : 878270105443
Option 4 |D : 878270105444
Status : Answered
Chosen Option : 1

Q140 g+t sm &, @ A § w0 B a0 T s faen A ¥ TR w1 g fefafea ¥ A
T ~fifer gry fen 7o e ?

(1) T T G, 1986 &1 Wmm SE TRE
() g faen Aif, 1986
(3) W fawan AffA, 2020
(4) T FATF SFEM, 1983
Options 1.1
L
3.3
4.4

Question Type : MCQ
Question ID : 87827026692
Option 1 1D : 878270105277
Option 2 1D : 878270105278
Option 3 ID : 878270105279
Option 4 |1D : 878270105280
Status : Answered
Chosen Option : 2
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Comprehension:

What passes for knowledge is of two kinds : first knowledge of facts ; second, knowledge of the
general connection between facts very closely connected with this distinction is another : there is
knowledge which may be described as “mirroring”, and knowledge which consists in capacity to
handle Leibinitz's monads ‘mirror’ the universe, and in this sense know it ; but since monads never
interact they cannot handle any thing external to themselves. This is the logical extreme of one
conception of “knowledge™. The logical extreme of the other conception is pragmatism which was
first promulgated by Marx in his Thesis on Feuerbach (1845) the question whether objective truth
belongs to human thinking is not a question of theory, but a practical question, the truth, ie the
reality and power of thought must be demonstrated in practice ....... philosophers have only
interpreted the world in various ways, but the real task is to alter it.

SubQuestion No : 141

@M Leibinitz’s monads know the universe as they it:
(1) Reflect
(2) Image
(3) Mirror
(4) Analyse
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026776
Option 110 : 878270105609
Option 2 |D : 878270105610
Option 3 1D : 878270105611
Option 4 |D : 878270105612

Chosen Option : 3

Status : Answered
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Comprehension:

e fiaw, g erier wht A ufe sit wv & W i)

for 3= #1 dan & 5 WA w9 AR ¥ wwEa: a1 m; i e & wa e
(e ) 1 T S e U oI o ¥« v S wfafaears € 6 g S /@ s
Al ® | it % e 39 fava 71 wftern & i sn 9w 58 g w1 9 €, W e F R e
AT T €, 59 F0 A% FE A WO T SWIE TRl 4 T4 o T W % w0 W fae ¥ g
e 1 T e wArear € ol wewem aed e ditee At e (1845) § wentm e an
7w v T wfe oo o faee & gefm & s 78 9 fagm = e T & wif e s v
¥ T i Formm = el oiR Tge iR aAtEr: e 8 v I =ten | grit  fafue w9
7 fava #1 Faa =ren i 3, Ty aafas w4 78 afEfia s 8

SubQuestion No : 142

M e e 7 et 55 T S R T A
(1) =i FHIA
(2) Srdfashdl & IH
() TAHTA
(4) WM TEEE FTH
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question 1D : 87827026777
Option 11D : 878270105613
Option 2 ID : 878270105614
Option 31D : 878270105615
Option 4 |D : 878270105616
Status : Answered
Chosen Option : 4
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Comprehension:

e fiaw, g erier wht A ufe sit wv & W i)

for 3= #1 dan & 5 WA w9 AR ¥ wwEa: a1 m; i e & wa e
(e ) 1 T S e U oI o ¥« v S wfafaears € 6 g S /@ s
Al ® | it % e 39 fava 71 wftern & i sn 9w 58 g w1 9 €, W e F R e
AT T €, 59 F0 A% FE A WO T SWIE TRl 4 T4 o T W % w0 W fae ¥ g
e 1 T e wArear € ol wewem aed e ditee At e (1845) § wentm e an
7w v T wfe oo o faee & gefm & s 78 9 fagm = e T & wif e s v
¥ T i Formm = el oiR Tge iR aAtEr: e 8 v I =ten | grit  fafue w9
7 fava #1 Faa =ren i 3, Ty aafas w4 78 afEfia s 8

SubQuestion No : 143

M s e e e e e e
(1) =g W
() wiafie
(@) e wad
@) S et
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026778
Option 11D : 878270105617
Option 2 ID : 878270105618
Option 31D : 878270105619
Option 4 |1D : 878270105620
Status : Answered
Chosen Option : 4
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Comprehension:

e fiaw, g erier wht A ufe sit wv & W i)

for 3= #1 dan & 5 WA w9 AR ¥ wwEa: a1 m; i e & wa e
(e ) 1 T S e U oI o ¥« v S wfafaears € 6 g S /@ s
Al ® | it % e 39 fava 71 wftern & i sn 9w 58 g w1 9 €, W e F R e
AT T €, 59 F0 A% FE A WO T SWIE TRl 4 T4 o T W % w0 W fae ¥ g
e 1 T e wArear € ol wewem aed e ditee At e (1845) § wentm e an
7w v T wfe oo o faee & gefm & s 78 9 fagm = e T & wif e s v
¥ T i Formm = el oiR Tge iR aAtEr: e 8 v I =ten | grit  fafue w9
7 fava #1 Faa =ren i 3, Ty aafas w4 78 afEfia s 8

SubQuestion No : 144
Q.144

TEITY % STTAR FH F adfas a6 €

(1) fova =t =amen &6

) fava =1 dfafda w0

@) fava § = #1 SRR FA

(4) a3 T A S
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question 1D : 87827026775
Option 11D : 878270105605
Option 2 ID : 878270105606
Option 31D : 878270105607
Option 4 |1D : 878270105608
Status : Answered
Chosen Option : 4
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Comprehension:

e fiaw, g erier wht A ufe sit wv & W i)

for 3= #1 dan & 5 WA w9 AR ¥ wwEa: a1 m; i e & wa e
(e ) 1 T S e U oI o ¥« v S wfafaears € 6 g S /@ s
Al ® | it % e 39 fava 71 wftern & i sn 9w 58 g w1 9 €, W e F R e
AT T €, 59 F0 A% FE A WO T SWIE TRl 4 T4 o T W % w0 W fae ¥ g
e 1 T e wArear € ol wewem aed e ditee At e (1845) § wentm e an
7w v T wfe oo o faee & gefm & s 78 9 fagm = e T & wif e s v
¥ T i Formm = el oiR Tge iR aAtEr: e 8 v I =ten | grit  fafue w9
7 fava #1 Faa =ren i 3, Ty aafas w4 78 afEfia s 8

SubQuestion No : 145

arifreRt 3 Fae fafus =9 § fava smen 91 % ;7w g d Fronfes § 9 fees qum om 2
(1) ToTHa s

(2) TFH Ha fau Fga a5t

(3) = A HTTE

(4) FFHWH T

Options 1.1

2.2

3.3

4.4

Q.145

Question Type : MCQ
Question ID : 87827026774
Option 1 1D : 878270105601
Option 2 ID : 878270105602
Option 3 1D : 878270105603
Option 4 |D : 878270105604
Status : Answered
Chosen Option : 2
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Comprehension:

et fam o Trerior = wraurgds e st weet & Iw e

faran 3T (1964-66) 7 et fnen =1 wearamgyt geten i 3t wfeen fan o fadm o fem ) =97
& o1 o e T afufadi 3 ufeen foen =1 woen =1 wdien #1 % - ot Ateen fae ofufi 1050,
A SR e & weawd & 99 fadg w wiEf (1961), yaaEacem wfafa 1963-fed @ o |
HOE 1 A T s anfeen e 1 fawm o g a1 w9 39 st #71 smgrmst = e wmda
T T 1 T8 FEeE afafa A FeEfatan ageen 5 () 1w @R afeen F 9= e adam G # w
F11 % form wigen fnen =1 wi Frlwn A S At (i) 39 weeE g fad FwtEe T fE s s
et 3 Sn o i wem 5 e S (i) S sin O ST w W At ai afeen faenw et

= fom fav Friwoneh 2 =few)
SubQuestion No : 146
Q.146
Toer AN (1964-66) F1 A% A o417
(1) TH TUFRH
(2) . A
(@) . % R & @
@) <o fdg Fer
Options 1.1
22
3.3
4.4

Question Type : MCQ
Question ID : 87827026784
Option 11D : 878270105637
Option 2 |10 : 878270105638
Option 31D : 878270105639
Option 41D : 878270105640
Status : Answered
Chosen Option : 4
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Comprehension:

et fam o Trerior = wraurgds e st weet & Iw e

faran 3T (1964-66) 7 et fnen =1 wearamgyt geten i 3t wfeen fan o fadm o fem ) =97
& o1 o e T afufadi 3 ufeen foen =1 woen =1 wdien #1 % - ot Ateen fae ofufi 1050,
A SR e & weawd & 99 fadg w wiEf (1961), yaaEacem wfafa 1963-fed @ o |
HOE 1 A T s anfeen e 1 fawm o g a1 w9 39 st #71 smgrmst = e wmda
T T 1 T8 FEeE afafa A FeEfatan ageen 5 () 1w @R afeen F 9= e adam G # w
F11 % form wigen fnen =1 wi Frlwn A S At (i) 39 weeE g fad FwtEe T fE s s
et 3 Sn o i wem 5 e S (i) S sin O ST w W At ai afeen faenw et

o fou fasg sedwomed 2t =nfew)
SubQuestion No : 147
Y St s aters o T A A
(1) wfeensii =1 foan 7 sifvwfa &+
(2) e wH
(@) nfd=w af
@) frgam v 5% fAfead
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026780
Option 11D : 878270105621
Option 2 |10 : 878270105622
Option 3 1D : 878270105623
Option 41D : 878270105624
Status : Answered
Chosen Option : 4
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Comprehension:

et fam o Trerior = wraurgds e st weet & Iw e

faran 3T (1964-66) 7 et fnen =1 wearamgyt geten i 3t wfeen fan o fadm o fem ) =97
& o1 o e T afufadi 3 ufeen foen =1 woen =1 wdien #1 % - ot Ateen fae ofufi 1050,
A SR e & weawd & 99 fadg w wiEf (1961), yaaEacem wfafa 1963-fed @ o |
HOE 1 A T s anfeen e 1 fawm o g a1 w9 39 st #71 smgrmst = e wmda
T T 1 T8 FEeE afafa A FeEfatan ageen 5 () 1w @R afeen F 9= e adam G # w
F11 % form wigen fnen =1 wi Frlwn A S At (i) 39 weeE g fad FwtEe T fE s s
et 3 Sn o i wem 5 e S (i) S sin O ST w W At ai afeen faenw et

¥ fem S Fhaed 26 e
SubQuestion No : 148
e T Afeen foren wfufa 1959 1 72w fFaFT swmem § f w912
(1) 3
(2) e SogE
(3) EEEE
4) wOfSH Tmg
Options 1.1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827026783
Option 1 1D : 878270105633
Option 2 ID : 878270105634
Option 3 ID : 878270105635
Option 41D : 878270105636
Status : Answered
Chosen Option : 3
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Comprehension:

et fam o Trerior = wraurgds e st weet & Iw e

faran 3T (1964-66) 7 et fnen =1 wearamgyt geten i 3t wfeen fan o fadm o fem ) =97
& o1 o e T afufadi 3 ufeen foen =1 woen =1 wdien #1 % - ot Ateen fae ofufi 1050,
A SR e & weawd & 99 fadg w wiEf (1961), yaaEacem wfafa 1963-fed @ o |
HOE 1 A T s anfeen e 1 fawm o g a1 w9 39 st #71 smgrmst = e wmda
T T 1 T8 FEeE afafa A FeEfatan ageen 5 () 1w @R afeen F 9= e adam G # w
F11 % form wigen fnen =1 wi Frlwn A S At (i) 39 weeE g fad FwtEe T fE s s
et 3 Sn o i wem 5 e S (i) S sin O ST w W At ai afeen faenw et
¥ feu fadrg Frdwomet T =)

SubQuestion No : 149
Q.149

ATt SR wfeen fven dra wufaewar < =ifee foad
(1) Hwewd aferar fact

(2) wfeen gvErTERwE * fag

() T % wRe] A & e &g

(@) T F=di & 9GH & fou

Options 1.1
2.2
3.3
4.4

Question Type : MCQ
Question 1D : 87827026781
Option 11D : 878270105625
Option 2 |10 : 878270105626
Option 3 1D : 878270105627
Option 41D : 878270105628
Status : Answered
Chosen Option : 2
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Comprehension:

et fam o Trerior = wraurgds e st weet & Iw e
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